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Nursing

1. What nutrient deficiency causes goiter? (+1,-0.33)
a. lodine
b. Protein
c. Calcium

d. Carbohydrate

2. Which is the process of assigning specific duties? (+1,-0.33)
a. Coordination
b. Supervision
c. Communication

d. Delegation

3. Which structures act as wires of a telephone in the body? (+1,-0.33)
a. Muscles
b. Nerves
C. Arteries

d. Veins

4. The establishment of personal relationship and affection takes place in (+1,-0.33)
the stage of group dynamics is termed as
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a. Performing

b. Forming
c. Norming

d. Storming

5. What are the immediate side effects of Electroconvulsive therapy? (+1,-0.33)
a. Temporary memory loss and confusion
b. Fractured and dislocated bones
c. Myocardial infarction and cardiac arrest

d. Permanent memory loss and brain damage

6. HML analysis means (+1,-0.33)
a. Heaping, Moulding and Lowering Estimates
b. High, Medium and Low Estimates
c. Hierarchy, Moderate and Low Estimates

d. High Medical Laboratory Inventory

7. Antipsychotic drugs are prescribed to decrease the psychotic symptoms (+1,-0.33)
by

a. Depressing the central nervous system

b. Inhibiting production of the enzyme Monoamine oxidase inhibitors
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c. Blocking the action of dopamine in the brain

d. Blocking reuptake of norepinephrine and serotonin

8. Which AV block is also referred to as Mobitz-11? (+1,-0.33)
a. Complete Heart Block
b. Second Degree AV Block
c. Third Degree AV Block

d. First Degree AV Block

9. Osmotic pressure and Acid-base balance of body fluids are maintained (+1,-0.33)
by

a. Sodium
b. Magnesium
C. Fluorine

d. Zinc

10. Which is the most suitable position for giving an enema? (+1,-0.33)
a. Right lateral position
b. Lithotomy position
C. Prone position

d. Left lateral position
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1.

12.

13.

Which of the following is termed as the fetal blood vessel lying over the (+1,-0.33)
internal os, in front of the presenting part?

a. Cord Prolapse
b. Cord Presentation
c. Occult Cord Prolapse

d. Vasa previa

Facial palsy is also known as (+1,-0.33)
a. Erb's palsy

b. Klumpke's palsy

C. Bell's palsy

d. Brachial palsy

An individual expressing his failures and difficulties by blaming others is (+1,-0.33)
known as

a. Repression
b. Projection
c. Sublimation

d. Denial

14. In which condition the projectile vomiting is seen? (+1,-0.33)
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a. Duodenal atresia

b. Intussusception
c. Megacolon

d. Pyloric stenosis

15. The maternal mortality ratio is expressed in terms of (+1,-0.33)
a. 1000 live births
b. 100 live births
c. 10000 live births

d. 100000 live births

16. Which drug is preferred in urinary and genital infections? (+1,-0.33)
a. Norfloxacin
b. Pefloxacin
c. Ofloxacin

d. Ciprofloxacin

17. The lack of oxygen in the tissue is called (+1,-0.33)
a. Anorexia

b. Anoxia
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c. Cyanosis

d. Hypoxia

18. _____ is also known as Ascorbic acid. (+1,-0.33)
a. Vitamin E
b. Vitamin C

c. Vitamin D

d. Vitamin A

19. Which is the basis of ABC analysis in inventory control? (+1,-0.33)
a. Criticality of items
b. Annual consumption value
c. Procurement difficulty of items

d. Unit cost of items

20. Which one of the following is the process of urination resulting from (+1,-0.33)
voluntary and involuntary muscles?

a. Micturition process
b. Prostate process
c. Kidney process

d. Glomerular process
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21

22,

23.

24,

Which is not a therapeutic communication technique? (+1,-0.33)
a. Humour

b. Informing

c. Automatic response

d. Reflection

In which condition oral pills should not be given to a women? (+1,-0.33)
a. Vaginal infection

b. Asthma

C. Hypertension

d. Menstrual problems

The Brodmann area number that corresponds to the primary visual (+1,-0.33)
cortex is

a. Three
b. Seventeen
C. Forty one

d. Four

Which sampling could be effective during a sampling frame is difficult to  (+1,-0.33)
identify in research?
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a. Quota

b. Convenient
C. Purposive

d. Snowball

25. Which is a macromineral that the body needs to work properly? (+1,-0.33)
a. Gold
b. Silver
C. Lead

d. Calcium

26. Which one of the following is the major cause of postpartum (+1,-0.33)
haemorrhage?

a. Atonic Uterus
b. Thrombin
C. Pre-Eclaompsia

d. Incoordinate Uterine Action

27. What is a Bacille Calmette-Guerin(BCG)? (+1,-0.33)
a. Toxoid

b. Immunoglobulin
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c. Live attenuated vaccine

d. Killed vaccine

28. Which conventions are followed for spherical mirrors and lens? (+1,-0.33)
a. New Einstein sign
b. New Cartesian Sign
c. New Huygens Sign

d. New Newton Sign

29. Which is called as Non-probability sampling? (+1,-0.33)
a. Cluster sampling
b. Systematic sampling
c. Stratified random sampling

d. Quota sampling

30. Which disease is Fatal brain disorders that are caused by the prion (+1,-0.33)
protein?

a. Pick's Disease
b. Mad Cow Disease
Cc. Creutzfeldt—Jakob disease

d. Lewy Body Disease
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3l. What is the renal threshold value of glucose?

a. 182 Mg/ dl
b. 188 Mg / dI
c. 185 Mg/ dl
d. 180 Mg / d

(+1,-0.33)

32. Which one of the following is an example of the risk for infection in nursing  (+1,-0.33)

33.

34. The Schick test is done for the diagnosis of

diagnosis?

a. Wellness Nursing Diagnosis
b. Diagnostic Nursing Diagnosis
c. Risk Nursing Diagnosis

d. Actual Nursing Diagnosis

Which causes Klinefelter syndrome?
a. Xo

b. Xyy

C. XX

d. Xxy

(+1,-0.33)

(+1,-0.33)
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a. Diphtheria

b. Measles
c. Rubella

d. Mumps

35. Which one of the following is the last part of the small intestine? (+1,-0.33)
a. lleum
b. Jejunum
c. Duodenum

d. Appendix

36. Which of the following metals is in liquid state at room temperature? (+1,-0.33)
a. Sodium
b. Mercury
c. Coal

d. Sulphur

37. The optimal head circumference will be 45 cm at (+1,-0.33)
a. 12 months of age

b. 8 months of age
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c. 4 months of age

d. 6 months of age

38. Pyridoxine is otherwise called as (+1,-0.33)
a. Vitamin Bl
b. Vitamin B2
c. Vitamin BI2

d. Vitamin B6

39. In which stage of labour the placenta is delivered? (+1,-0.33)
a. 15tstage
b. 39 stage
c. 2"d stage

d. 4t stage

40. The normal IQ level of human beings is (+1,-0.33)
a. 80to 100
b. 120 and above
c. N0to 120

d. 90to 110
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41. Down syndrome is also known as
a. Trisomy 13
b. Trisomy 18
C. Trisomy 21

d. Monosomy 13

(+1,-0.33)

42. Which one of the following is the emergency management of burn injury  (+1,-0.33)

in the first 24 hours?
a. Plastic Surgery

b. Fluid Resuscitation
c. Dressing

d. Antibiotic Therapy

43. A framework for quality care does not include:

a. Critical Thinking
b. Professional Standards
c. Mission, Values

d. Care Guidelines

44. Wermer's syndrome is considered as

(+1,-0.33)

(+1,-0.33)
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a. MEN |

b. MENII
C. MEN IV

d. MENII

45. All green plants and bacteria which can synthesize their food by (+1,-0.33)
photosynthesis come under the category of

a. Decomposers
b. Intakers
c. Food givers

d. Producers

46. Which is a chronic inflammatory and autoimmune disease affecting (+1,-0.33)
peripheral synovial joints of bone?

a. Rheumatoid
b. Polyarthritis
c. Oreoarthritis

d. Ankylosing

47. Which one of the following includes the immediate step in resuscitation (+1,-0.33)
of the new born?

a. Suction of the baby's stomach
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48.

49,

50.

b. Clearing the oral and nasal airway
C. Squeezing the chest to remove secretions from the airway

d. Routinely giving sodium bicarbonate

A diet high in saturated fats can be linked to (+1,-0.33)
a. Kidney failure

b. Cardiac [ heart diseases

c. Anorexia

d. Bulimia

Who discovered the antibiotic penicillin? (+1,-0.33)
a. Alexander Fleming

b. Edward Jenner

c. Waksman

d. None of these

Which one of the following aspects is not considered as an indicator of a  (+1,-0.33)
hospital system?

a. Patient Satisfaction
b. Public Relations

c. Machinery
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51

52.

63.

d. Quality of Care

Nominal variables are also known as (+1,-0.33)
a. ordinal variable

b. categorical variable

C. discrete variable

d. confounding variable

Which is the main characteristic of scientific research? (+1,-0.33)
a. Empirical Research

b. Experimental Research

C. Theoretical Research

d. Historical Research

Which function is transmission of sound vibrations to the internal ear? (+1,-0.33)
a. Auricle

b. Tympanic membrane

c. Vestibule

d. Eustachian tube

54. Which one of the following is a function of the liver? (+1,-0.33)
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a. Synthesis of plasma protein

b. Elimination of carbohydrates
c. Concentration of bile

d. Secretion of cholecystokinin

55. What is cardinal signs of meningitis? (+1,-0.33)
a. Trousseau's Sign
b. Kernig Sign
c. Ortolani Sign

d. Chvostek's signs

56. Bile salts are important for digestion of (+1,-0.33)
a. Fat
b. Protein
c. Carbohydrate

d. Iron

57. Which is the earliest sign of rickets? (+1,-0.33)
a. Harrison's Groove

b. Craniotabes
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c. Bow Legs

d. Rickety rosary

68. Life threatening condition due to rapid loss of blood or body fluids is (+1,-0.33)
known as

a. Hypovolemic shock
b. Neurogenic shock

c. Anaphylactic shock

d. Septic shock

59. What is the frictional force exerted by the fluids also called? (+1,-0.33)
a. Slag
b. Effort
c. Drag

d. Core

60. The memory disorder that affects older adults is (+1,-0.33)
a. Insomnia
b. Dystrophy
c. Dyspnoea

d. Dementia
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61.

62.

63.

64.

Which is a cause of Anuria? (+1,-0.33)
a. Appendicitis

b. Gastritis

C. Pyrexia

d. Renal failure

Standards of mental health practices are published by ___ __ (+1,-0.33)
a. American Psychiatric Association

b. Indian Nursing Council

c. State Nursing Council

d. Trained Nurses Association of India

Effective approach in preventing pulmonary embolism is to prevent (+1,-0.33)
a. Heart Disease

b. Deep Vein Thrombosis

C. Chronic Obstructive Puimonary Disease

d. Diabetes Mellitus

How many drops per minute would you administer when the doctor's (+1,-0.33)
order states that the client should receive 1000 cc of fluid for 8 hours and
the IV set delivers 20 gtts per cc?
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a. 48 gtts

b. 51 gtts
C. 42 gtts

d. 31gtts

65. Which theory was developed by a nurse? (+1,-0.33)
a. Uncertainty In lliness Theory
b. Hierarchy Of Need Theory
c. Social Cognitive Theory

d. Job Satisfaction Theory

66. The number of new cases occurring in a defined population during a (+1,-0.33)
specified period of time is called

a. Morbidity
b. Prevalence
C. Incidence

d. Point Prevalence

67. Which of the following develops a tough coat and is gradually converted  (+1,-0.33)
into a seed in plants?

a. Ovule
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b. Pollen grains

c. Embryo

d. Zygote

68. Which drug is used to treat HIV /AIDS? (+1,-0.33)
a. Ampicillin
b. Dexamethasone
C. Streptomycin

d. Zidovudine

69. Which assessment method will be used after the client has been (+1,-0.33)
discharged?

a. Auditing
b. Retrospective Evaluation
c. Concurrent Evaluation

d. Summary evaluation

70. Where does the fertilization takes place? (+1,-0.33)
a. Infundibulum
b. Ovary

c. Ampulla


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

d. Isthmus
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7.

72,

73.

Non-Nursing

"Splitting” by the client with borderline personality disorder denotes

a. A primitive defence mechanism in which the client sees objects as
all good or all bad

b. Two distinct personalities within the borderline client
c. Evidence of precocious development

d. A brief psychotic episode in which the client loses contact with
reality

The word emotion etymologically means
a. To express

b. To stirup

C. Totest

d. Tocry

By which one of the following measures the human immuno deficiency
virus does not spread?

a. Use of intoxicant drugs
b. Sexual contact
c. Blood transfusions

d. Shaking hands

(+1,-0.33)

(+1,-0.33)

(+1,-0.33)
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74. How much population is covered by a community health centre?

a. 15000 to 45000

b. 20000 to 30000

c. 3000 to 5000

d. 80000 to 120000

(+1,-0.33)

75.

Find the next number in the series.

7,9,13,21,37,?

a. 57

b. 55

c. 69

d. 63

(+1,-0.33)

76.

In domestic water sewage, which of the following things is not a part of (+1,-0.33)

‘Dissolved materials’?
a. Nitrate

b. Phosphate

c. Calcium

d. Sand
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77.

78.

79.

A girl started to walk 2 km in North direction. She turned towards her right (+1,-0.33)
and walked 6 km and walked 3 km towards her left. Once again she took

a left turn to walk 3 km before taking another left to walk 5 km. How far is

she from the starting point?

a. 7km
b. 5km
c. 3km

d. 4km

Dandiya is the traditional folk dance of (+1,-0.33)

a. Sikkim
b. Karanataka

c. Gujarat

d. Uttar Pradesh

In India, which of the following States has the highest number of National (+l, —0.33)
Parks?

a. Tamil Nadu
b. Madhya Pradesh
c. Tripura

d. Punjab
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80. What is the symbol of the element Gallium? (+1,-0.33)

a. Gl
b. Ga
c. G

d. Gm

8l. The real executive of the Indian governmentis _________ (+1,-0.33)
a. The President

b. The Prime Minister

c. The Speaker

d. The Vice President

82. What is the Sl unit of electric field strength? (+1,-0.33)
a. Henry/ Coulomb
b. Joules / Coulomb
c. Coulomb [ Newton

d. Newton / Coulomb

83. What is called the time required for the satellite to complete one (+1,-0.33)
rotation?
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84.

85.

86.

a. Period of force
b. Period of motion
C. Period of momentum

d. Period of revolution

Which department issues PAN number? (+1,-0.33)
a. Financial affairs

b. Revenue

c. Income Tax

d. Economic Affairs

A train passes a station platform in 65 seconds and a man standing on (+1,-0.33)
the platform in 49 seconds. If the speed of the train is 29 m/s, what is the
length of the platform? (meter)

a. 484
b. 494
C. 464

d. 474

By selling a CPU for Rs.7935, a man makes a profit of 15%. At what price (+1,-0.33)
should he sell it to make a profit of 25%? (in Rs.)

a. 8725
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87.

88.

89.

b. 8525
c. 8825

d. 8625

The three-tier system of Panchayat Raj was recommended by

a. Jai Prakash Narain Committee
b. Simon Commission
c. Kaka Kalelkar Committee

d. Balwant Rai Mehta Committee

On dividing a number by 483, we get 68 as remainder. On dividing the
same number by 69, what will be the remainder?

d. 48

The ratio of number of girls to boys in a school of 4500 students is 49:51.

How many more girls should be admitted to make the ratio 1:1?
a. 88

b. 90

(+1,-0.33)

(+1,-0.33)

(+1,-0.33)
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d. 86

90. Two bells ring at intervals of 59 seconds and 70 seconds. If they both ring  (+1,-0.33)
at 10 O'clock in the morning together, after how many seconds will they
ring together again?

a. 4230
b. 4030
c. 4330

d. 4130

9. Which of the following is a biodegradable material? (+1,-0.33)
a. Wood
b. Plastic bag
c. Nuclear waste

d. Aluminium

92. A statement is given followed by two conclusions. Find which (+1,-0.33)
conclusion(s) is /are true based on the given statement.

Statement W =0>R=2I>E<D
Conclusions:

i)E<R
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93.

94.

95.

ii)l<O

i) W > 1

a. Only i) and ii) follow
b. Only ii) and iii) follow
c. Onlyiii) follows

d. All follow

The Pong dam is built on which of the following rivers? (+1,-0.33)
a. Sutlej

b. Beas

C. Ravi

d. Chenab

In a certain code language, if BEACH is coded as GDCJE, then how is FLUID ~ (+1,-0.33)
coded in that language?

a. UOLRW
b. HNWKF
c. GLXOl

d. NHWFK

Who won the Australian Open 2019 Men's single title? (+1,-0.33)
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a. Rafael Nadal

b. Roger Federer
c. Andy Murray

d. Novak Djokovic

96. The ancient Harappan city of Lothal is located in the state of (+1,-0.33)

a. Gujarat
b. Rajasthan
c. Uttar Pradesh

d. Punjab

97. In which year the CSSM Programme was initiated? (+1,-0.33)
a. 1980
b. 1990
C. 1992

d. 1982

98. How many times can a person be elected as the President of India? (+1,-0.33)
a. Five times only

b. One time only
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C. Any number of times

d. Two times only

99. 2450 boys and 1750 girls are examined in a test; 42% of the boys and 36%  (+1,-0.33)
of the girls pass the test. The percentage of the total who failed is

a. 625
b. 635
c. 60.5

d. 615

100. The term "Leg Before Wicket" is associated with which game/sport? (+1,-0.33)
a. Football
b. Cricket
c. Chess

d. Volley Ball
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Answers

1. Answer: a

Explanation:

Concept:-

Goiter: it is swelling in the neck resulting from an enlarged thyroid gland. (normal
thyroid gland is impalpable).

Causes of goiter:

lodine deficiency

Pregnancy

Puberty

Goitrogen (are the compounds which interfere with the normal function of the
thyroid gland) intake — cabbage, cauliflower

Inherited thyroid dysgenesis is the term mainly used for the abnormalities and
dysfunctions related to the development of the thyroid gland.

Agenesis is the term used when the thyroid gland is absent

Hypoplasia of the Thyroid Gland is when the size of the thyroid gland is
decreased.

Explanation:

lodine: it is an essential micronutrient supporting some of the most vital
functions of the human body.

lodine is a nutrient needed in a minute quantity daily.

Recommended daily intake: 140-150ug (microgram)

The total quantity present in the body is 15-20 mg mostly in the thyroid gland.
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2. Answer: d

Explanation:

Concept:-

o Delegation: it is the assignment of responsibility to another person for the
purpose of carrying out specific job-related activities.

e Delegation is a shift of decision-making authority from one organizational level
to another.

Benefits of delegation:

Manager Employee Organization

e Teamwork

e Less stress e Knowledge and skills e Productivity and

e Better time development efficiency
management e Confidence e Employees

e More trust e Motivation satisfaction

e |Innovation

Additional Information
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e Coordination: it is one of the important management functions that help to
develop a harmonious relationship among different types of activities of
different organizations.

e Supervision: it is a communication process between a supervisor and a
supervisee. The process enables the supervisee to explore and increase
knowledge and understanding of job-related skills as well as to develop and
apply them at work.

e Communication: a process through which individuals mutually exchange their
ideas values, thoughts with one or more people.

3. Answer: b
Explanation:

Concepti-

¢ Nerves: The nerves are like the telephone wires which carry information to and
from the brain and spinal cord to different parts of the body.

¢ A telephone wire and a spinal cord are similar because they both transmit
messages. They use electricity.

e Anerve is a bundle of fibers that receives and sends messages between the
body and the brain.

e Messages are sent by chemical and electrical changes in the cells, technically
called neurons, that makeup nerves.

Three types of nerves:

1. Afferent nerves: are composed of sensory nerve fibers grouped together to
carry impulses from receptors to the central nervous system.

2. Efferent nerves: are composed of motor nerve fibers carrying impulses from the
central nervous system to effector organs, such as muscles or glands.

3. Mixed nerves: are composed of both afferent and efferent nerve fibers.

Key Points

e Muscle: it is a contractile tissue that brings about movements.
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o Muscles can be regarded as motors of the body.
e Arteries:
o These carry pure oxygenated blood from the heart to different organs of
the body.
o The wall of arteries are thick compared to veins due to higher blood
pressure in Arteries
e Veins:
o These carry impure carbon dioxide-rich blood from body organs to the
heart.

o The walls of veins are thin as compared to the arteries because the
pressure of blood flow is low.

4. Answer: c

Explanation:
Concept:-

e Group is the collection of two or more people where they work together for a
particular task having the same values and norms.

e Group Dynamics: is the process of understanding the behavior of people in the
group, where group members work for the task completion.

Phases of team development:
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Forming

Team
acquaints
and
establishes
ground
rules.

Formalities
are
preserved
and
members
are treated

as strangers.

Storming

Members start to
communicate
their feelings but
still view
themselves as
individuals
rather than part
of the team.

They resist
control by group
leaders and
show hostility.

Norming

People feel
part of the
team and
realize that
they can
achieve work
if they accept
other
viewpoints.

Performing

The team
works in an
open and
trusting
atmosphere
where flexibility
is the key and
hierarchy is of
little
importance.

Adjourning

The team
conducts an
assessment of
the year and
implements a
plan for
transitioning
roles and
recognizing
members'
contributions.

5. Answer: a

Explanation:

Concept:-

e Electroconvulsive therapy (ECT): it is a psychiatric treatment in which seizures
are electrically induced in anesthetized patients for therapeutic effect.

e The main mechanism of action in electroconvulsive therapy (ECT) is the
induction of a generalized clonic seizure. This seizure is triggered by the delivery
of an electric current to the patient's brain using electrodes placed on the
patient's head.

e ECT is most often recommended for use as a treatment for severe depression

that has not responded to other treatments and is also used in the treatment of

mania and catatonia.
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o Conducted: in 1938 by Ugo Cerletti and Bini.
o Voltage: 70-120 volts
o Duration: 0.7-1.5 seconds

Side effects of ECT:

¢ Side effects associated with general anesthesia:

e Death during ECT due to general anesthesia, succinylcholine, and drug
reactions.

e Memory disturbances (both anterograde and retrograde) are very common.
These are mild and recovery occurs within 1-6 months after treatment.

e Confusion may occur.

Types of ECT:

6. Answer: b

Explanation:

Concept:-

Inventory Management:
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¢ |s a system that indicates what to order, when to order, and how much to order

to keep purchasing and storage cost less than possible.
¢ Inventory is the detail of all the goods, material and procured, received stored,
and used in the hospital.

HML Classification is used in inventory management where the items are listed as
per their cost including:

e High Cost
e Medium Cost
e Low Cost

HML: the high, medium and low classifications follow the same procedure as is
adopted in ABC classification.

e The only difference is that in high, medium, and low, the classification unit value
is the criterion and not the annual consumption value.

e |tis used to keep control over consumption at the department level for deciding
the frequency of physical verification.

The objective of HML analysis:

Determine the frequency of stock verification.

To keep control over the consumption at the department level
To evolve buying the policy, to control purchase.

To delegate the authority to different buyers.

7. Answer: c
Explanation:

Concept:-
Antipsychotic drugs:

¢ Also known as neuroleptics or major tranquilizers are a class of medications
primarily used to manage psychosis principally in schizophrenia and bipolar
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disorder.

e Many antipsychotic drugs are dopamine antagonists, working to block
dopamine receptors in the brain.

e First-generation antipsychotics known as typical antipsychotics were
discovered in the 1950s.

e Second-generation drugs known as atypical antipsychotics, first atypical
antipsychotics were discovered in the 1960s and introduced clinically in the
1970s.

Mechanism of action:;

¢ Antipsychotic drugs block D, receptors in the mesolimbic and mesofrontal

systems.

e Sedation is caused by the alpha-adrenergic blockade.

e Anti-dopaminergic actions on vassal ganglia are responsible for causing Extra
Pyramidal Symptoms.

e Atypical antipsychotics have anti-serotonergic anti-androgenic and
antihistamine actions.

8. Answer: b

Explanation:

Concept:-

AV block: it occurs when the conduction of impulses through the AV nodal area is
decreased or stopped.

e Second Degree AV Block is also known as Mobitz 2, it is the disease of the distal
conduction system, It is mainly characterized by:

e By intermittently non conducted P waves not preceded by PR prolongation and
not followed by PR shortening.

e This heart block may progress and may lead to a complete heart block.
Pacemaker implant is the definitive treatment for this disease,

Etiology:
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e Medications e.g. digitalis, calcium channel blocker, beta-blockers
e Myocardial ischemia

e Myocardial infarction

e Increased vagal tone e.g. suctioning, pressure over the eye.

Types of AV block:
Degree AV conduction pattern
Ist-degree block Uniformly prolonged PR interval

2nd degree, Mobitz type | | Progressive PR interval prolongation

2"d degree, Mobitz type Il | Sudden conduction failure

3rd-degree block No AV conduction

9. Answer: a

Explanation:

Concept:-
Osmotic pressure:

e Itis the minimum pressure that needs to be applied to a solution to prevent the
inward flow of its pure solvent across a semipermeable membrane.

¢ Sodium is the major cations of the extracellular fluid. It is responsible for one-
half of the osmotic pressure gradient that exists between the interior of cells
and their surrounding environment.
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e This excess sodium appears to be a major factor in hypertension (high blood
pressure) in some people.

Acid-base regulation:

e Itis concerning the proper balance between chemical acids and bases in the
extracellular fluids. Acid-base regulation is also called body Ph.

e Electrolytes, particularly sodium. Electrolytes carry an electric charge when
dissolved in body fluids such as blood, helping the body maintain normal fluid
levels in the fluid compartments.

e The amount of fluid a compartment contains depends on the number of
electrolytes in it.

10. Answer:d
Explanation:

Concept:-

e Enema: it is an insertion of a solution into the rectum and sigmoid colon to
stimulate defecation.
o The left lateral position is the most suitable position for giving an enema.

Explanation:

o Left lateral position: the lateral position is also referred to as the recumbent or
lateral decubitus position.

¢ Left lateral position, the patient is placed on the operating room table with the
left side down. Exposing the right side of the body.

Additional Information

o Left lateral position: In this, the patient lies on his left side, with hips and knees
flexed, top leg in front of the bottom leg. In this position pressure on the back
and coccyx region will be relieved.

o Itis used to promote lung and cardiac function, and during seizure attacks
and air, embolism to maintain the patency of the airway.
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Uses:

e Comfortable position.

e Relieve pressure on bony prominences.

e Used for enema, insertion of suppositories, and for checking the rectal
temperature.

. Answer:d

Explanation:

Concept:-
Vasa previa:

¢ |tis a condition when fetal vessels traverse the fetal membranes over the
internal os.

e These vessels course within the membranes and are at risk of rupture when the
supporting membranes rupture.

Diagnosis:
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e The diagnosis of vasa previa is considered if vaginal bleeding occurs upon
rupture of the membranes.
e Concomitant fetal heart rate abnormalities, particularly a sinusoidal pattern.

¢ |deally, vasa previa is diagnosed antenatally by the US with color flow doppler.
Key Points

e Umbilical cord prolapse occurs when the umbilical cord drops through the
cervix into the vagina, ahead of the baby.

e Cord presentation refers to the condition of cord slipping down below the
presenting part in the intact bag of membranes.

12. Answer: c
Explanation:

Concept:-

¢ Facial palsy: also known as Bell's palsy. It is a form of facial paralysis resulting
from a dysfunction of the cranial nerve VIl that results in the inability to control
facial muscles on the affected side.

e Bell's palsy, also known as idiopathic(its exact cause is unknown) facial palsy, is
a form of temporary paralysis or weakness on one side of the face.

e Bell's palsy is the most common cause of facial paralysis.

e The facial nerve also carries nerve impulses to the tear glands, salivary glands,
and a small bony muscle in the middle of the ear.

e Facial nerves also transmit taste sensations from the tongue.

Symptoms of facial palsy:

e Sudden weakness or facial paralysis

e Numbness in the affected side of the face
e Painin the ear

e Drooling

e Eye problems

e Loss of ability to taste
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Causes:

e The main cause is latent herpes viruses, which are reactivated from cranial
nerve ganglia.

e Polymerase chain reaction techniques have isolated herpes virus DNA from the
facial nerve during acute palsy.

Drooping of S acia
the mouth —

13. Answer: b

Explanation:

Concept:-
Projection:

e |tis a common attribute of paranoia, where people project dislike of themselves
onto others, so they believe that most people dislike them.

e Projection helps justify unacceptable behavior and is the commmonly used
defense mechanism.

Examples:

e An unfaithful husband suspects his wife of infidelity.

e A man does not like another person. But he has a value that says he should like
everyone. So he projects onto that person that she does not like him.

e This allows him to avoid her and also to avoid his own feelings of disliking
another person.

e An aggressive person claims that she is only sticking up for herself by calming
that everyone else is being aggressive.
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Additional Information

e Repression: it is not all bed. If all uncomfortable memories were easily brought
to mind we would be faced with the unceasing pain of reliving them.

¢ Sublimation: it is the transition of a substance from the solid phase to the gas
phase without passing through an intermediate liquid phase.

e Denial: refusal to recognize or acknowledge a threatening situation.

14. Answer: d

Explanation:
Concept:-

e Vomiting, also known as emesis and throwing up, is the involuntary, forceful
expulsion of stomach contents through the mouth and the nose.

¢ Projectile vomiting is an acute form of vomiting, sometimes seen in infants,
which may include vomiting from the nose.

Pyloric stenosis:

e |tis defined as narrowing the outlet of the stomach so that food cannot pass

easily from it into the duodenum, resulting in feeding problems and projectile
vomiting.

Causes:

e The main cause is unknown

e Abnormal muscle innervation, breastfeeding and maternal stress in 3rd
trimester

e Type B or O blood group

e May be genetic

e Less common in African Americans

Symptoms of pyloric stenosis:

e Vomiting after feeding
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Persistent hunger
Stomach contractions
Dehydration

Weight problems

Risk factors for pyloric stenosis:

e Sex. Pyloric stenosis is seen more often in boys than in girls, mostly in firstborn
children.

e Race. It is most common in whites of northern European ancestry and less
common in Black people and rare in Asians.

e Premature birth. Pyloric stenosis is more common in babies born prematurely
than in full-term babies.

e Family history.

e Smoking during pregnancy. This behavior can nearly double the risk of pyloric
stenosis.

e Early antibiotic use.

e Bottle-feeding

15. Answer:d
Explanation:

Concept:-
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e Maternal mortality ratio: number of maternal during a given time period per

100000 live births during the same time period.

e MM Ratio = number of MDs in 12 months x 100,000 / number of LBs in the same

12 months

o Maternal mortality ratio = (Number of maternal deaths / Number of live

births) X 100,000
MDs = Maternal deaths
LBs = Live births

Causes of maternal mortality:

Hemorrhage

Septicemia

Toxemia

Abortions

Abnormalities of the bony pelvis
Ectopic pregnancy

Disproportion or malposition of fetus

16. Answer: d

Explanation:

Concept:-

Urinary infection:

¢ |tis an infection that occurs when bacteria invade the urinary tract and

multiply.

e Women are especially prone to urinary infections for unknown reasons.

Mechanism of Action:

e The mechanism of action of norfloxacin is to inhibit the A subunit of the
important bacterial enzyme DNA gyrase, which helps in DNA replication.

Causes:
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e Urinary tract infections are caused by microorganisms, usually bacteria that

enter the urethra and bladder, causing inflammation and infection. Though a
UTI most commonly happens in the urethra and bladder, bacteria can also
travel up the ureters and infect your kidneys.

Important Points

¢ All the options listed (Norfloxacin, Pefloxacin, Ofloxacin, and Ciprofloxacin) are

antibiotics belonging to the fluoroquinolone class and can be used to treat
urinary and genital infections.

Their use depends on the specific bacteria causing the infection, local
antibiotic resistance patterns, and individual patient factors.

Among these, Ciprofloxacin (option 4) is one of the most commonly used
fluoroquinolones for urinary tract infections (UTIs) and certain genital infections
due to its effectiveness and broad spectrum of activity.

17. Answer: d

Explanation:

Concept:-

e Hypoxia: an abnormally reduced o, supply to tissue.

e A pathological condition in which the body as a whole or a region of the body is

deprived of adequate oxygen supply.

Causes of hypoxia:

Lung disease

Strong pain medicines

Heart problems

Anemia

Cyanide poisoning (cyanide is a chemical used to make plastics and other
products)

Additional Information
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e Anorexia: is an eating disorder characterized by abnormally low body weight,
an intense fear of gaining weight, and a distorted perception of weight.

e Anoxia: it is a condition characterized by the complete absence of oxygen
supply to the brain.

e Cyanosis: it is a bluish or purplish tinge to the skin and mucous membranes.

18. Answer: b

Explanation:
Concept:-

e Vitamins are substances or micro molecules that help in body growth in the
normal way. There are 13 vitamins are Vitamin A. B vitamins (thiamine,
riboflavin, niacin, pantothenic acid, biotin, vitamin B-6, vitamin B-12, and folate)

Vitamins, their scientific names, and their deficiency diseases:
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Vitamin

Vitamin A

Vitamin Bl

Vitamin B2

Vitamin B3

Vitamin B5

Vitamin B6

Vitamin B7

Vitamin Bl

Vitamin B12

Vitamin C

Vitamin D

Scientific name

Retinol

Thiamine

Riboflavin

Niacin

Pantothenic acid

Pyridoxine

Biotin

Folic acid

Cobalamin

Ascorbic acid

Calciferol

Disease

Night blindness

Beriberi

Dermatitis

Diarrhea

Muscle cramps, insomnia

Anemiaq, kidney stones

Paralysis, hair fall

Anemia

Anemia and constipation

Scurvy

Rickets
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Vitamin E | Tocopherol Sterility

Vitamin K | Phylloquinone Hemorrhage

19. Answer: b

Explanation:

Concept:-

e ABC analysis: it helps to exercise selective control when confronted. With a

large number of items, it rationalizes the number of orders, number of items
and reduces the inventory.
ABC analysis is an approach for classifying inventory items based on the items'’
consumption values. Consumption value is the total value of an item
consumed over a specified time period, for example, a year.
ABC analysis: it helps to exercise selective control when confronted. With a
large number of items, it rationalizes the number of orders, number of items
and reduces the inventory.

o Step I: determine annual usage/sales for each item

o

Step 2: determine the percentage of the total usage/sale by item

o

Step 3: rank the items from highest to lowest percentage
Step 4: classify the items into ABC categories

(e}

e Class A: 15% of item accounts for 70% - 80% of sales
e Class B: 30% of items accounts for 15% - 25% of sales
e Class C: 55% of items account for 5% of sales

Advantages of ABC analysis:

Facilitates inventory control and control over-usage

Eliminates unnecessary paperwork involved in control procedures
Facilitates selective control thereby freeing up management time
Reduces stock — holding cost

The company is able to concentrate on high-value items.
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20. Answer: a

Explanation:

Concept:

Micturition: It is the process of emptying urine from the storage organ, namely,
the urinary bladder. The detrusor is the smooth or involuntary muscle of the
bladder wall. The external sphincter, however, is a voluntary muscle under the
control of voluntary nerves.

The kidneys in humans are mainly responsible for Urination.

Urination is the process of releasing urine out of the body from the urinary
bladder via the urethra.

It is also known as micturition.

Two processes are involved:

Urine formed by the nephrons is ultimately carried to the urinary bladder
where it is stored till a voluntary signal is given by the central nervous system
(CNS).

This signal is initiated by the stretching of the urinary bladder

as it gets filled with urine.

. The bladder fills progressively until the tension in its wall is above a threshold

level, and then.

. A nervous reflex called the micturition reflex occurs that empties the bladder at

150-200ml of urine volume.

. The micturition reflex is an autonomic spinal cord reflex:
. However, it can be inhibited or facilitated by centers in the brainstem and

cerebral cortex.
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21. Answer: c
Explanation:

Concept:-

e Therapeutic commmunication is a therapeutic approach to interactions between
health care professionals and the patient. This involves therapeutic
communication, including its history, definition, applications, and explains the
inter-professional team to improve clients” health.

Therapeutic communication technique:

e |tis the use of communication for the purpose of creating a beneficial outcome
for the client.

e Ruesch, who originated the term therapeutic communication, stated that the
purpose is to improve the client’s ability to function.
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Technique

Humour

Informing

Reflection

Broad
opening

Clarification

Restating

Focusing

Definition

Discharge of energy through cosmic enjoyment of imperfection.

Provide the client with information. Information decrease client
anxiety. Most people harbor a fear of the unknown.

Repeating back the feeling, idea or message conveyed.

A general statement that allows the client to choose the topic of
discussion

Asking the client for further explanation of a vague or confusing
comment

Repeating the major theme

Using statements to encourage exploration of a particular topic.

22. Answer:c

Explanation:

Concept:-

e Hypertension: it is a common condition that will catch up with most people
who live into older age,
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e When it's too high, it raises the heart’s workload and can cause serious
damage to the arteries.

e Over time, uncontrolled high blood pressure increases the risk of heart disease,
stroke, and kidney disease.

e Long-term use of estrogen-containing oral contraceptives induces an

increase in blood pressure and rapidly increases the risk of hypertension.
Types of hypertension:
1. Primary hypertension:

e chronic high blood pressure without a source or associated with any other
disease
e a most common form of hypertension

2. secondary hypertension:

e elevation of blood pressure associated with another disease such as kidney
disease.

Prevention of hypertension:

e Lose weight if overweight

¢ Should not give oral contraceptive pills.

e Decrease sodium intake

e Decrease intake of saturated fat and cholesterol
e Stop smoking

23. Answer: b
Explanation:

Concept:-

e Brodmann'’s areas cortex mainly refers to the region of the cerebral cortex
identified in 1909 by German Neurologist, Korbinian Brodmann, mainly based
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on cytoarchitectonic (cell size, spacing or packing density, and lamination)
differences.

e These regions were originally identified based on Nissl-stained sections of the
human brain which is applied to all mammals.

e Brodmann's area mainly has 52 regions of the brain.

Primary visual cortex:

e A multi-layered structure is located in the occipital lobe (AKA, Area 17, V1, striate
cortex).

e Receives axons from the LGN.

e LGN inputs are primarily received at layer 4 -parvocellular to a lower
subdivision and magnocellular to an upper subdivision.

e Each hemisphere represents the contralateral visual field.

Function

e Highly specialized for processing information about static and moving objects
and excellent in pattern recognition.
¢ VI outputs to 2 pathways: the dorsal stream and the ventral stream.
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24. Answer: d

Explanation:

Concept:-

e Sampling in research is the process of selection of units (e.g. people,

organization) from a population of interest so that studying the sample may
fairly generate results back to the population from which they were chosen.
The objective of sampling is to derive the desired information about the
population at the minimum cost or with maximum reliability.

Snowball sampling:

Snowball sampling is also known as network, chain referral, or reputation
sampling method.

Snowball sampling which is a non-probability sampling method is

basically sociometric.

In this sampling, the technique the researcher recruits other participants for
the study. This sampling technique is the nonprobability sampling technique
where researchers find it harder to get the samples.

It can be useful when researchers need the sample to reflect certain features
that are difficult to find.

It is a special nonprobability method used when the desired sample
characteristic is rare.

It may be extremely difficult or cost-prohibitive to locate respondents in these
situations.

This technique relies on referrals from initial subjects to generate additional
subjects.

It lowers search costs; however, it introduces bias because the technique itself
reduces the likelihood that the sample will represent a good cross-section
from the population.
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Additional Information

e Quota: similar to stratified sampling, the population is divided into mutually
exclusive the judgment is used to select the participants from each stratum
based on a specified proportion.

e Convenient: a process of selecting subjects or units for examination and
analysis that is based on accessibility, ease, speed, and low cost. Units are not
purposefully or strategically selected.

e Purposive: the selection of respondents is predetermined according to the
characteristic of interest made by the researcher.

25. Answer: d

Explanation:
Concept:-

e Macrominerals: Required in amounts greater than 100 mg/day.
¢ They include calcium, phosphorus, magnesium, sodium, potassium, and
chloride.

Explanation:

Calcium: is the most abundant among the minerals in the body. The total content of
calcium in an adult man is about 1to 1.5 kg.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Sources: mild and milk products, beans, leafy vegetables, and egg yolk.

Requirements:

1. Adult men and women: 800 mg/day
2. Children, pregnant and lactating women: 800-1200 mg/day

The function of calcium:

¢ Building strong bones and teeth

e Clotting blood

e Sending and receiving nerve signals
e Squeezing and relaxing muscles

e Keeping a normal heartbeat

26. Answer: a
Explanation:

Concept:-
Postpartum hemorrhage PPH:

¢ |tis excessive blood loss after delivery sufficient to affect the general condition
of the mother as shown by tachycardia and hypotension.

e The traditional definition, based on a bloodless 2 500ml from or within the
reproductive tract after delivery, is difficult to estimate in clinical practice.

e Late or secondary post-partum hemorrhage takes place up to 12 weeks after
the delivery.

e The major cause of the PPH is the atonic uterus followed by the retained
placenta, uterine rupture, any blood condition, and infection.

Causes of PPH:

e The atonic uterus is the main cause of PPH
e Genital tract trauma
e Third stage complications
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e Coagulation disorders

Explanation:
Atonic uterus:

e [s the failure of myometrium at the placental site to contract and retract and
compress torn blood vessels and control blood loss by living ligature action.

27. Answer: c

Explanation:

Concept:-
Bacille Calmette-Guerin:

e ltis a living attenuated bovine tubercle bacillus to enhance immunity to
tuberculosis.

e The bacilli have retained enough strong antigenicity to become a somewhat
effective vaccine for the prevention of human tuberculosis.

e At best, the BCG vaccine is 80% effective in preventing tuberculosis for a
duration of 15 years;

e However, its protective effect appears to vary according to geography.

Dose:
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e 0.Iml (0.5ml until Imonth age).

Route:

e |Intradermal

28. Answer: b

Explanation:

Concept:-

New cartesian sign convention for spherical mirrors:

The object is always placed on the left of the mirror and light from the object
falls from the left to the right.

All distances parallel to the principal axis are measured from the pole.

All distances measured to the right of the pole are taken as +ve.

All distances measured to the left of the pole are taken as -ve.

The height measured upwards perpendicular to the principal axis is taken as
+ve.
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¢ The height measured downwards perpendicular to the principal axis is taken
as -ve.

EXPLANATION:

e The focus point is in front of the mirror for the concave mirror and behind the
mirror for the convex mirror.

e So, it is positive for convex mirrors and negative for the concave mirror as per
the given sign conventions.

e The correct option is 'f of the concave mirror is negative, and that of a convex
mirror is positive..

29. Answer:d

Explanation:
Concept:-

e Non-probability sampling is a method of selecting samples for the study when
all the samples are not having equal chances to get selected for the study.

Types of Non-Probability sampling are:
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¢ 1. Quota Sampling
e 2.Snowball Sampling

e 3. Judgemental Sampling
e 4. Dimensional Sampling
e 5. Convenience Sampling

Quota sampling:

¢ In this type of sampling, the researcher chooses the samples as per the study
preferences and also segregates the groups to form the quota and start the
survey.

e Selection is based on some basic parameters like age, sex, income, etc.

¢ Field workers are assigned quotas of the number of units satisfying the
required characteristics for collecting data

Properties

e When parameters are large, the number of cells increases.

¢ |t misleads if the relevant parameter is omitted.

¢ In this method, field workers tend to visit respondents who are more likely to be
available and accessible.
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Quota sampling

Quota:

Additional Information

e The probability Sampling method is also known as the random sampling

method. In this method total population has an equal opportunity of being
included in the sample. The random sampling method is used in a
homogeneous population where the population possesses the same attributes
that a researcher is interested in.

Cluster sampling: it refers to a sampling method wherein the members of the
population are selected at random, from naturally occurring groups called
clusters.

Systematic sampling: relies on arranging the target population according to
some ordering scheme and then selecting elements at regular intervals
through that ordered list.

Stratified random sampling: it is one in which the population is divided into
homogeneous segments, and then the sample is randomly taken from the
segments.
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30. Answer: c

Explanation:

Concept:-
Prion proteins:

e The ‘protein only’ hypothesis’ states that a modified form of normal prion
protein triggers the infectious neurodegenerative disease, such as bovine
spongiform encephalopathy, or Creutzfeldt-Jakob disease in humans.

e Prion proteins are thought to exist in two different conformations: the ‘benign’
PrPc form, and the infectious ‘scrapie form’ PrPSc.

e Knowledge of the three-dimensional structure of PrPc is essential for
understanding the transition to PrPSc.

Explanation:

¢ Creutzfeldt-Jakob disease is a rapidly progressive, invariably fatal
neurodegenerative disorder believed to be caused by an abnormal isoform of
a cellular glycoprotein known as the prion protein.

¢ |t occurs worldwide and the estimated annual incidence in many countries,
including the united states, has been reported to be about one case per million
population.

Sign and symptoms:

Personality changes
Lack of coordination and control
Ataxia

Involuntary jerky movements
Insomnia

Confusion

31. Answer: d
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Explanation:

Concept:-

e Glycosuria is the presence of sugar or glucose in the urine.

e The appearance of glucose in urine following cessation of tubular reabsorption
as the renal threshold is exceeded.

e 90% of the filtered glucose is reabsorbed from the PCT, remaining absorbed
from the loop of henley, and collecting duct.

e Only 0.05% is excreted through urine normally.

e The threshold level in blood glucose level is 160-180mg/dl

The renal threshold for glucose:

e This is the plasma level at which the glucose first appears in the urine.

e The actual renal threshold is about 200 mg/dl of arterial plasma, which
corresponds to a venous level of about 180 mg/dl.

e This deviation is called splay.

Splay

¢ In the renal handling of the glucose curve, the TM is approached somewhat
gradually, along a curve, rather than abruptly with a sharp deflection, the curve
is known as the splay.

32. Answer:c

Explanation:

Concept:-

Types of nursing diagnosis:
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Nursing diagnosis

Risk diagnosis

Actual diagnosis

Possible diagnosis

Wellness
diagnosis

Collaborative
problem

Diagnostic
Nursing Diagnosis

Example

Risk for infection related to the presence of invasive lines.
(intravenous line and indwelling bladder catheter).

Deficient fluid volume related to nausea and vomiting as
manifested by dry skin and mucous membranes and
decreased oral intake of fluids.

Possible imbalanced nutrition: less than body requirements
related to insufficient oral intake.

Readiness for enhanced spiritual well-being.

Potential complication: increased intracranial pressure.

Identification of a disease condition based on specific
evaluation of signs and symptoms.

33. Answer:d

Explanation:

Concept:-
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e The chromosomal disorders are caused due to absence or excess or abnormal
arrangement of one or more chromosomes

e The total number of chromosomes in a normal human cell is 46 (23 pairs).

e Out of these 22 pairs are autosomes and one pair of chromosomes is a sex
chromosome.

e Down'’s syndrome, Turner’'s syndrome, Klinefelter's syndrome are common
examples of chromosomal disorders.

Klinefelter syndrome:

¢ Instead of an XY sex chromosome pattern that most males have, these males
have XXY patterns.

e Due to having an extra X chromosome, the male may possibly have some
physical traits unusual for males.

e Some people with Klinefelter’'s consider themselves to be transgender,
intersexed, or transsexual, due to having a more feminine appearance and
feminine emotions.

e Female(XX) have one Barr body.

e Male(XY) have no Barr body.

Symptoms of Klinefelter syndrome:

e Underdeveloped muscles

e Tiredness

e Early heart disease

e Change body shape

e Reduced facial hair

e Delayed puberty

o Infertility

¢ Taller than other males with long legs.
e Breast development
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34. Answer:a
Explanation:

Concept:-

e Diphtheria is a common infectious disease in India.
e Diphtheria is an acute communicable disease that affects the nose, throat,

and tonsils.
 The bacilli multiply at the site of implantation (insertion into the body), be it the

throat, nose, or tonsils. It produces local lesions at the site of implantation. This
lesion is characterized by the formation of a patch or patches of greyish false-
membrane on the affected parts such as the tonsils or larynx (voice box). It
also produces an offensive and strong odor.

Schick test:

¢ Itis used to determine the susceptibility of a person to diphtheria.
e Named after its inventor, Bela Schick (1877-1967).
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¢ |tis no longer in use. The availability of safe and effective toxoid preparation

has made susceptibility tests unnecessary.
Explanation:

¢ Diphtheria is an acute infectious disease of childhood characterized by local
inflammation of the epithelial surface, formation of a membrane, and severe
toxemia.

Caused by: Gram-positive bacilli, Corynebacterium diphtheria
Symptoms:

e Fever and weakness

e Enlarged lymph nodes on the neck
e Swelling of soft tissue on the neck
e Nasal discharge

e High heart rate

35. Answer: a

Explanation:

Concept:--
Small intestine:

e [tis the longest section of the alimentary canal It is the major organ of
digestion & absorption.

e The small intestine is highly coiled and is about bmeters long. It receives
secretions from the liver and the pancreas. Moreover, its wall also secretes
juices.

e The inner walls of the small intestine possess thousands of finger-like
outgrowths. These are called villi (singular villus). The villi enhance the surface
area for absorption of the digested food.

e The small intestine is divided:

o Duodenum (first part)-'C’ shaped duodenum
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o Jejunum (middle part)
o highly coiled ileum(last part)

Explanation:

lleum:

e The final segment of the small intestine
e 3.5 meters long

e Ends at the ileocecal valve, a sphincter that controls the flow of material from
the ileum into the large intestine.

36. Answer: b

Explanation:
Concept:-

Mercury (Hg):
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e Mercury’s elemental symbol comes from its Greek name hydrargyrum, which
means ‘liquid silver to reflect its shiny surface.

e [tis aliquid at room temperature because its valence electrons are strongly
attracted to the atonic nucleus. Atoms resist forming metallic bonds with other

mercury atoms.’
Mercury effects on humans:

e Short-term exposure- causes harmful effects on the nervous, respiratory and
digestive systems.

e Initial exposure shows symptoms similar to ‘mental fume fever'- fever, chills,
fatigue.

e Occupational exposure- chest pain, impaired lung function, inflammation of
the lungs, cough, coughing up blood.

37. Answer: a
Explanation:

Concept:-
Head circumference:

e Itisrelated to brain growth and the development of intracranial volume.

e Average head circumference measured about 35 cm at birth.

e Head circumference is measured over the most prominent part on the back of
the head (occiput) and just above the eyebrows e.g. the largest circumference
of the head.
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Age Head circumference

3 months 40 cm

6 months | 43 cm

1 year 45cm

2 years 48 cm

7 years 50 cm

12years ' 52cm

38. Answer: d

Explanation:
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Concept:-

Vitamin B6:

Vitamins, their scientific names, and their deficiency diseases:

e [t was discovered in the 1930s.

e |t occurs in several forms, all of which can be converted to the most active
coenzyme form, pyridoxal phosphate.
e Itis a water-soluble vitamin and is part of the vitamin B complex group.
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Vitamin

Vitamin A

Vitamin Bl

Vitamin B2

Vitamin B3

Vitamin B5

Vitamin B6

Vitamin B7

Vitamin BI1

Vitamin B12

Vitamin C

Vitamin D

Scientific name

Retinol

Thiamine

Riboflavin

Niacin

Pantothenic acid

Pyridoxine

Biotin

Folic acid

Cobalamin

Ascorbic acid

Calciferol

Disease

Night blindness

Beriberi

Dermatitis

Diarrhea

Muscle cramps, insomnia

Anemiaq, kidney stones

Paralysis, hair fall

Anemia

Anemia and constipation

Scurvy

Rickets
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Vitamin E | Tocopherol Sterility

Vitamin K | Phylloquinone Hemorrhage

39. Answer:b
Explanation:

Concept:-
Labor:

¢ |s the onset of painful, regular contractions, more than once every ten minutes,
with progressive cervical effacement and dilatation accompanied by descent
of the presenting part.

Stages of labor:
The first stage of labor:

¢ This starts from the onset of true labor pain and ends with full dilatation of the
cervix.
e There are two phases of the first stage:

1. Latent phase
2. Active phase

The second stage of labor:
o Full dilatation of the cervix until the baby is completely out of the birth canal.
The third stage of labor:

¢ Begins after the expulsion of the fetus and ends with the expulsion of the
placenta and membranes; it also involves the control of bleeding

The fourth stage of labor:
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e Begins with the delivery of the placenta and ends one to two hours after
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delivery.

Initial (latent) phase

Felus
[ Lterus

Umbihcal
Crowing of

Active phase
Fetus

Merus

Umbilical

cord
the head cord
Stage 1

2]

Umbilic
cord

Fetus

Effaced
cenyix

Stage 2

Placenta

Limbilical

Umbihea|
clamp

vagina

Stage 3

40. Answer: d
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Explanation:

Concept:-

e Mental retardation, as a developmental disability, has attracted considerable
public attention. Its general d ebilitating character has made it a distinct
category of disability. Individuals with mental retardation, face considerable
difficulty in their lives in adapting to the demands of day-to-day life.

IQ range:

e It is an acronym for intelligence quotient.

e The IQis a measurement of your intelligence and is expressed in a number.

e A person’s IQ can be calculated by having the person take an intelligence test.
The average 1Q is 90-110. If you achieve a score than this you are smarter than

the average person.
For example, The IQ of a 25 years old boy, whose mental age is 12.5 will be

. — MentalAge
Concept' IQ Chronological Age x 100

Given: Mental age =12.5
Chronological age = 25
Solution: IQ= 22 x100 = 50


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

IQ range | 1Q classification

145-160 | High advanced

130-145 | Very advanced

120-130 | Superior

110-120 | High average

90-10 | Average (normal)

80-90 Low average

70-80 Borderline impaired or delayed

55-70 Mildly impaired or delayed

40-55 Moderately impaired or delayed

41. Answer:c

Explanation:

Concept:-
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e Down syndrome is also known as trisomy 21.

e There is the presence of an extra at chromosome 21.

e The fetus inherits 23 chromosomes from each parent, for a total of 46

chromosomes.
e An abnormal division of cells leads to an extra number of chromosomes.
e Causes or risk factors for down syndrome:

(0]

o

(¢]

(¢]

translation of chromosome
late maternal age

genetic

family history

Explanation:

¢ The symptoms of Down syndrome include:

(¢]

o

(0]

(¢]

(¢]

flat facial

short neck

weak muscle tone

protruding tongue

short stature

muscular hypotonia

diastasis of the muscle rectus of the abdomen
microcephaly

flat occipital

joint hyperextension

broad hands with short fingers
clinodactyly of the fifth finger
epicanthal fold

low-set ears

single palmar crease
atlantoaxial instability
label-femoral instability

e The clinical features vary from person to person.
e Congenital heart defects may be present with DS.
e Genetic counseling plays an important role with DS.
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42. Answer: b

Explanation:

Concept:-
e Burn injury leads to loss of fluid from the body.
Burn management includes three phases:

1. Resuscitative
2. Wound management
3. Rehabilitative or reconstructive

Resuscitative phase includes

¢ The management of hypovolemia.

« Capillary permeability increases in the early phase(large molecules or ions
getting lost into the interstitial fluid)

e There is decreased cardiac output and increased vascular resistance.

e This leads to hypovolemia and hyperfusion (burn shock).

Explanation:

e The resuscitation fluid management uses the Parkland formula.
Parkland formula = 4ml x TBSA (%) x body weight (kg).

o The first half of fluid is given in the first 8 hours.

o The remaining half is given in 16 hours.
In pediatrics, the normal maintenance fluid is added to the Parkland formula.
The patient’s vital signs are monitored regularly along with urine output.
Other management includes:

o Nasal gastric tube

o Foley catheter

o Oxygen saturation or pulse oximetry

o Analgesics

o Tetanus prophylaxis

o Wound cleaning and dressing
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o Topical antimicrobial creams

e The surgery in the burn injury is escharotomy to relieve constricting effect of a
full-thickness burn.
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43. Answer: a

Explanation:

Concept:-

¢ Critical thinking is a mental process used in problem-solving and making
decisions.

e [tincludes
o analysis

o introductory and concluding justification
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(¢]

(¢]

valid conclusion

distinguish of facts and opinions
evaluation of information sources
clarification of concepts

and recognition of conditions.

¢ Critical thinking helps in providing safe and efficient health care services.
e Whereas a framework of quality care is the guidelines of safe and efficient

care.

e The aim of quality care is to focus on quality improvement.

Explanation:

e The framework includes professional standards, vision, values, and guidelines.
(Therefore Option 1is correct)

e Quality care focuses on different levels in health care.

e Financial, quality, safety, rules, and regulations are taken care of at the policy

level.

e Resources and feedback, psychosocial and physical care recipient needs are
taken into consideration in the framework of quality care.

e According to WHO, quality health care can be defined as effective, safe, and
people-centered.

44. Answer: a

Explanation:

Concept:-

e Wermer's Syndrome is a rare, inherited disorder that mainly affects the
endocrine glands and leads to tumors in the parathyroid and pituitary glands
and the pancreas. These tumors are benign in nature most commonly.

e Wermer's syndrome is also called Multiple Endocrine Neoplasias, type 1 or (MEN
). Therefore option 11s Correct.

e MEN syndrome is a rare disorder of tumors in endocrine glands, small
intestines, and stomach.
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MEN | includes endocrine glands such as parathyroids, pancreas, and pituitary

gland that grow in size and release excess amounts of hormones.

It is an autosomal dominant inherited disorder.
A mutation in the MEN | link gene leads to the syndrome.
MEN Il includes the thyroid and adrenal gland.

o MEN type 2A consists of thyroid, adrenal and parathyroid glands.
o MEN type 2B include medullary thyroid cancer, pheochromocytoma, and

neuromdads.

Explanation:

e Symptoms of MEN I:

(¢]

(¢]

(¢]

(¢]

o

Fatigue

Abdominal pain
Tarry stool

Bloating

Gastritis

Headaches

Loss of appetite and weight loss
Alopecia in men
Myalgia

Nausea and vomiting
Vision changes
Depression

e Treatment:

(0]

o

o

o

o

Removal surgery

Drug therapy: Bromocriptine, calcium supplements

Hormonal replacement therapy

Chemotherapy: Anti-cancer drugs

Radiation therapy

45. Answer: d

Explanation:
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Concept:-

Green plants and bacteria which can synthesize their food by photosynthesis
are called autotrophs.

An autotroph uses photosynthesis under the category of procedures. Therefore
Option 4 is Correct.

Photoautotrophs include plants, algae, and cyanobacteria.

Heterotrophs are organisms that depend on other animals for food.
Chemoautrotrophs are organisms that synthesize sugars by taking energy
from inorganic chemical compounds.

Explanation:

The equation of photosynthesis is 6C0,+6H,0 -(sunlight)— CgH;,0g+605
Photosynthesis takes place in leaves in the middle layer called the mesophyll.
The exchange of gases occurs through stomata.

Decomposers are organisms that break down dead and decaying organisms.
Bacterias, mushrooms, and worms are examples of decomposers.

46. Answer: a

Explanation:

Concept:-

Rheumatoid arthritis (RA) is an autoimmune disorder. Where the immune
system attacks its own body cells leading to inflammation.
It particularly affects joints in the hands, wrists, and knees.
It may also affect other tissues in the lungs, heart, and eyes.
Symptoms of RA:
o Joint pain
Stiffness, swelling, and tenderness in the joint or joints
Weight loss
Fever
Fatigue

o

o

o

o
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Explanation:

e The specific test for RA:

e RA may result in bone erosion and joint deformity.

(¢]

(¢]

o

o

(0]

o

o

Antinuclear body test

C-reactive protein test

ESR

RF test

Cyclic citrullinated peptide antibodies
Complement body test

Synovial fluid analysis

Treatment:

e NSAIDS

e Steroids: Prednisone

e DMARDS

e Physical or occupational therapy
e Surgery: Synovectomy, tendon repair, and total joint replacement.
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e Swan neck deformity is mainly characterized by proximal interphalangeal joint
hyperextension and also distal interphalangeal joint flexion. There is also
reciprocal flexion noted in the metacarpophalangeal joint. This is a result of an
imbalance of the extensor mechanism of the digit.

Additional Information

e Osteoarthritis is the wear-tear of the cartilage bones. It occurs in old age.
e Polyarthritis refers to arthritis affecting more than five joints.
e Ankylosing spondylitis is associated with vertebrae.

47. Answer: b
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Explanation:

Concept:-

¢ The immediate steps include:
1. Provide warmth, dry and stimulate
2. Clear airway, ventilation
3. Chest compressions
4. Administration of the epinephrine
¢ 60 seconds or the Golden Minute should be used for completing initial steps,
ventilating, and reevaluating.
e Heart rate and respiration are continuously monitored throughout the process.
e Heart rate is assessed through the precordial pulse or umbilical pulse.

Explanation:

¢ If the baby is not breathing or crying without a good tone, then provide a warm,
clear airway, dry, and stimulate.

e If the heart rate is below 100 or gasping is there, monitor SPO2.

¢ Provide ventilation.

e Consider CPAP for labored breathing or cyanosis.

e Consider intubation and chest compressions in case of heart rate below 60
beats per minute.

e If heart rate still persists to be below 60 beats per minute. Provide IV
epinephrine.

48. Answer: b

Explanation:

Concept:-

e Saturated fats are also called solid fat. They are solid at room temperature.
e Read meat, milk, cheese, coconut oil, palm oil, and butte r are examples of
saturated fats.
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e Saturated fats increase the level of cholesterol that's why avoided in Cardiac
disease .
e Cholesterol travels in the blood as LDL and HDL .
o LDL is the bad cholestero | that increases the risk of heart disease.
o HDL takes extra fast and disposes of it in the liver.
o Therefore, saturated fats are linked to heart disease.

Explanation:

e Unsaturated fats help to reduce the risk of heart disease.

e Monounsaturated fats increase the level of HDL.

e Olive oil, avocados, aimonds are examples of monounsaturated fats.
e Polyunsaturated fats are omega-3 and omega-6.

e Omega-3 fatty acids are found in fish.

e Omega -6 fatty acids are found in corn, sunflower, or nuts.

Additional Information

e Fats help in the absorption of vitamins A, D, E, and K.

49. Answer: a

Explanation:

Concept:-

e Alexander Fleming discovered penicillin in the year of 1928.

e The discovery played an important role in reducing the number of deaths.

e He observed a blob mold area around which there was no bacterial growth.

e The mold juice was capable of killing harmful bacterias such as streptococcus
and meningococcus.

e Penicillin was derived from that mold juice.

Explanation:

e Penicillin comes under the class of beta-lactam antibiotics.
e List of drugs under penicillin:
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Amoxicillin: ENT infections (Streptococcus, Staphylococcus aureus, H.
influenza), genitourinary tract (E. coli, Enterococcus faecalis, Proteus
mirabilis), skin infections (Streptococcus spp, Staphylococcus spp, E.
coli)), Lower-respiratory tract infections, and H. Pylori infection.
Augmentin: Lower-respiratory tract infections, Acute otitis mediq, sinusitis,
skin infection (Staphyl aureus, E. coli), UTI

Ampicillin/sulbactam: E. coli, Klebsiella pneumonia, Staph aureus,
Bacteroides fragilis, Enterobacter spp, and Acinetobacter.

Dicloxacillin: Staphylococcus aureus infections

Bactocil (oxacillin): Staphylococcal infections and renal infections
Penicillin VK: Upper-respiratory tract, streptococcal infections,
pneumococcal, staphylococcal infections.

Pfizerpen (penicillin G): Streptococcal infection, staphylococcal infection,
bacterial endocarditis, pneumonia, syphilis, anthrax, diphtheria.

Additional Information

e Penicillin is taken 1 hour before or 2 hours after food.
e "Edward Jenner” was an English doctor and inventor of the 'smallpox vaccine'.

e Jenner is called the father of immunology.

50. Ahswer:c

Explanation:

Concept:-

¢ Indicators of the hospital system are the measures of health services

outcomes.

It is quantitative and qualitative measures that monitor and evaluate the

health care services provided to patients.

Indicators are based on standards of care.
Each quality measure focuses on a different aspect of health care delivery,

and together the quality measure and quality measure provide a more

comprehensive picture of health care quality.
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Explanation:

¢ Indicators that are used in the hospital system:
o Patient safety
o Patient’s satisfaction
o Efficiency measures
o Equity measure
o Public relation
o Clinical processes
o Care coordination
o Quality of care
o Population and public health
e Machinery comes under the resources available at the hospital. Therefore
Option 3 is Correct.

51. Answer: b

Explanation:

Concept:-

e Categorical variables are also known as nominal variables.
e It represents categories without intrinsic ordering.
e The categories are different from each other.
o For example, gender has two categories of male and female.
¢ Ordinal variables include ranking or order with a specific attribute.
o For example, the health status of poor, fair, and good.

Explanation:

e Confounding variables are a type of extraneous variable.
e Itis the third variable that influences cause and effects.
e The inability to validate the confounding variable affects the result of the study.
e A discrete variable is measured by counting.
o For example, the number of students present in the class.
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Variables can be of two types: qualitative and quantitative.

e A qualitative variable is one that cannot be expressed in numerical terms. For

example, marital status is a qualitative variable. Here, we can have two
categories: married and single. If one wants a more detailed categorization,
one can further divide single into widow/widower, divorcee, and never married.
Gender (male or female) is one such example.

o Nominal Variable: When we can't say one category is higher than the
other, like in the above example, we say the variables are nominal.

o Ordinal Variable: When we are able to categorize in terms of the order, for
example, primary teacher, secondary teacher, we call it ordinal variable.

Quantitative Variable: If we are able to express variables in numerical terms, it
is qualitative. For example, age.

o Discrete: It is the one where the observations assume values incomplete
numbers. For example, the number of children in a family can only be
whole numbers, it cannot be fractions.

o Continuous: It can assume any value in an interval. For example, the
weight of a person can be measured to any precision and thus can take
any value in between two points.

52. Answer: a

Explanation:

Concept:-

Empirical research is the foundational characteristic of scientific research
because it emphasizes direct observation or experience.

It abides by the scientific method, involving systematic collection of
quantifiable data and rigorous testing of theories.

The findings should be observable, measurable, and repeatable - essential
elements of the scientific method.

Other types of research like theoretical, experimental, or historical can indeed
be part of scientific research, but the empirical nature that requires evidence
from real-world observations or experiences is fundamental.
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Additional Information

¢ Experimental research design has complete control over extraneous variables.
e It has three characteristics:
Manipulation:

1. The researcher manipulates the independent variable and observes the effect
on the dependent variable.

2. Control: The complete control over extraneous variables.

3. Randomization: Every subject has an equal chance of being part of the study.

¢ Theoretical research is a design to support a theory or belief. The researchers
connect the previous knowledge to the current research.
o Historical research involves past events to examine causes, effects, and trends.

53. Answer: b
Explanation:

Concept:-

e The ear is divided into_three parts:
o External ear
o Middle ear
o Inner ear
e The external ear consists of the auricle and tympanic membrane.
¢ The middle ear is a small air-filled cavity separated by a tympanic membrane.
¢ |t consists of malleus,_ incus and stapes and eustachian tube.
e The inner ear is also known as the labyrinth.
¢ |t consists of semi-circular canals, vestibule, and cochlea.

Explanation:

e The human ear can sense sound waves due to vibration caused by the
eardrum membrane by the incoming sound waves.
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e The human ear can detect sound waves with frequencies around 20 Hz - 20
kHz but most sounds produced by humans and music instruments range
between 30 Hz to 12 kHz.

¢ The auricle directs sound waves into the external ear.

¢ The tympanic membrane or eardrum vibrates with high or low sound waves.

¢ The central area of tympanic membrane connects to the malleus, incus and
stapes.

e The vibration reaches cochlea perilymph.
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54. Answer: a

Explanation:
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Concept:-

e Liver: The liver is the largest gland of the body.
e Location: in the abdominal cavity, just below the diaphragm.
e Weight:1.4 to 1.5 kg

Plasma Protein Synthesis in Liver

e The liver synthesizes the plasma protein most abundant is albumin. Synthesis

of the polypeptide chain is initiated mainly on free polyribosomes with
methionine as the first amino acid.

Then the segment of formed of protein is rich in hydrophobic amino acids,
which initiates the binding of albumin-synthesizing polyribosomes to the
endoplasmic membrane.

Before albumin production the product formed is known as pre proalbumin,
then it is shifted to intracisternal space of the rough endoplasmic reticulum.

e Then it helps to produce albumin a Plasma protein.

Functions of the liver:

secretion of bile (800-1000ml)
carbohydrate metabolism

lipid metabolism

protein metabolism

processing of drugs and hormones
excretion of bilirubin

synthesis of bile salts

storage of vitamins and minerals
phagocytosis

activation of vitamin D

Explanation:

The most abundant plasma protein synthesized by the liver is albumin.
Albumin is the smallest and most numerous of proteins.

Albumin contributes to plasma viscosity.

They also help in the regulation of pH.

Globulins and fibrinogens are other plasma proteins.
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e They both are larger proteins.
e Fibrinogen is responsible for blood clotting.

55. Answer: b

Explanation:

Concept:-

¢ Meningitis is the inflammation of the meninges.
e Meninges are the covering of the brain and spinal cord.
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e There are three layers of meninges.
o Dura
o Arachnoid
o Pia

e The causes are infectious or non-infectious.

¢ The cause of infectious meningitis are:
o bacteria
o fungi
o virus

Explanation:

¢ Clinical manifestation of meningitis:
o fever
o neck pain/stiffness
o photophobia
o headache
o seizures
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o Kernig's sign

o Brudzinksi sign
Kernig's sign is the pain with passive extension of knees while the patient is in
the supine position.
Brudzinksi sign is the severe neck stiffness that leads to hips and knees flexing.
The Chvostek’s signs are a clinical finding associated with hypocalcemia or
low levels of calcium in the blood.

o This clinical sign refers to a twitching of the facial muscles that occurs

when a person’'s cheek is gently tapped in front of the ear.

56. Answer: a

Explanation:

Concept:-

Bile helps in digestion. It breaks down fat into fatty acids, which can then be
taken into the body by the digestive system.

Bile mainly helps in the complete digestion of fats and also helps in the
digestion of protein and carbohydrates. Digestion mainly occurs due to the
presence of bile salts.

During digestion of fats, bile acts as an emulsifier which helps to break the
large globules of fats and provides a larger area for fat-digesting enzymes to
act and to fast digestion of the fats.

Bile also acts as a good solvent. Due to this property, it serves as a good
medium for the interaction of fats and fat-splitting enzymes.

Bile is yellow or brownish liquid.

Bile salts are sodium and potassium salts of bile acids.

Bile acids are chenodeoxycholic acid and cholic acid.

These acids break down large lipid globules into small lipid globules.

This process is called emulsification.

Explanation:
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Excessive cholesterol or lack of bile salts may lead to the formation of

gallstones.

These gallstones may cause obstruction to the flow of bile.

Treatment consists of dissolving drugs, lithotripsy, or surgery.

Patients with cholecystectomy need to limit the intake of saturated fats.

57. Answer: b
Explanation:

Concept:

e Rickets is caused by a deficiency of vitamin D.

¢ |tis a disease condition of a defect in mineralization of the epiphyseal plates.

¢ The deficiency of vitamin D, calcium, and phosphorous are the commmon cause
of rickets.

¢ The earliest sign of rickets is carniotabes.

¢ Carniotabes refers to the softening of skull bone, it also includes frontal bossing
and wide fontanels, which is considered as the earliest sign of rickets. So option
2 is the correct answer.

Explanation:

e Rickets is of the following types:
o Nutritional Rickets—
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= This is caused due to intake of food which lacks calcium,

phosphorous, and vitamin D.
o Hypophosphatemic Rickets-

» |tis caused due to low levels of phosphate. It is an X-linked genetic
disorder where the kidneys are not able to control the amount of
phosphate excreted in the urine.

o Renal Rickets-

= People suffering from kidney disorders have renal rickets. They are
unable to regulate the amount of calcium and phosphate excreted
in the urine.

¢ The clinical manifestations of rickets include:
o Carniotabes

o Harrison’s groove is depressed at the lower side of the ribcage
o Bowlegs (genu varus), knock knees (genu valgus), and joints swelling
o Wrist widening
o Spinal deformity or kyphosis
o Delayed dentition
o Gait disturbance
o Soft bones
o Bone pain
o Enamel hypoplasia
o Hydrocephalus
¢ Treatment of rickets:
o a single large dose of vitamin D
o oral vitamin D
o Multiple-dose of vitamin D

Key Points

e Harrison's groove, also known as Harrison's sulcus, is a horizontal groove along
the lower border of the thorax corresponding to the costal insertion of the
diaphragm; It is usually caused by chronic asthma or obstructive respiratory
disease.

¢ The Rickety rosary refers to the extension of the anterior rib at the
costochondral junctions and is often seen as a lump at the costochondral
junctions in rickets.
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58. Answer: a
Explanation:

Concept:-

e Hypovolemic shock refers to severe blood or other fluid loss leading to
decreased cardiac output.
e Causes:
o hemorrhage
o diarrhea
o burns
o vomiting
o excessive perspiration
e Pathophysiology:
o Loss of fluid or blood
Decreased supply to multiple organs
Inadequate circulating volume and subsequent inadequate perfusion
Ischemia
Complications such as multiple organ dysfunction syndromes

(e}

o

o

o

Explanation:

e Management:
o Balanced transfusion using L1 or 111:2 of plasma to platelets to packed red
blood cells
o Fluid resuscitation
o Anti-fibrinolytic administration
o Monitor blood pressure, urine output, mental status, and peripheral
edema

Additional Information

e Vasopressors are avoided since they worsen tissue perfusion.
e Anaphylactic shock is a life-threatening allergic response. It is characterized
by skin reactions, hypotension, and difficulty breathing.
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e Neurogenic shock is caused by disruption of autonomic nervous system
pathways because of spinal injury or traumatic brain injury.
e Septic shock refers to the state of hypotension because of sepsis.

59. Answer:c
Explanation:

Concept:-

e The frictional force exerted by the fluids is called drag.

e Drag is generated by the difference in velocity between the solid object and
the fluid.

e |tis aforce acting against the object moving in a fluid.

e Drag is the component of force acting in the opposite direction to the line of
flight, or in the same direction as the motion of the undisturbed stream.

Types of drag
Skin friction drag

e Skin-friction drag is generated by the resolved components of the traction due
to shear stresses acting on the body surface.

e This traction is due directly to viscosity and acts tangentially at all points on
the body surface.

e At each point, it has a component aligned with but opposing the undisturbed
flow (i.e., opposite to the direction of flight).

e Skin-friction drag cannot exist in an inviscid flow.

Pressure drag

e Pressure drag is generated by the resolved components of the forces due to
pressure acting normal to the surface at all points.

e |tis computed as the integral of the flight path direction component of the
pressure forces acting on all points on the body.

e The pressure distribution, and thus pressure drag, has several distinct causes:
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o Induced drag: It is also known as drag due to lift or vortex drag. It exists for
wings that are 3-D. it depends on the lift and doesn't directly depend on
the viscous effect.

o Wave drag: It exists for supersonic flow. It is associated with the formation
of shock waves which are irreversible thermodynamic processes in high-
speed flight.

o Form drag (boundary layer pressure drag): Form drag is caused by
differences between the pressure distribution over a body in viscous flow
and that in an ideal inviscid flow.

Explanation:

e Slagis the removed or waste product of used metal.
o For example, when ore melts at a high temperature. The impurities
separate. The separated impurities are called slag.
¢ Effort means a physical or mental action.
e The word core means the innermost part of the substance.

60. Answer: d

Explanation:

Concept:-

e Dementia is defined as a loss of previous levels of cognitive, executive, and
memory function in a state of consciousness.
e Dementia can be primary or secondary depending on the cause.
o Primary Dementia -> is a condition where it is the major sign of illness.
o Secondary Dementia -> is a condition related to other conditions such as
HIV or cerebral trauma.
e It has clinical features of impairment of abstract thinking, judgment, and
impulse control.

Causes of Dementia

e Alzheimer's disease
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e Vascular dementia
e Parkinson's disease

e Dementia with Lewy bodies
e Frontotemporal dementia
e Severe head injury.

Additional Information

e Insomnia refers to the difficulty in falling and maintaining sleep. It is a sleep
disorder.

e Dystrophy refers to loss of muscles and muscular weakness. Genetic mutation
is a cause of muscular dystrophy.

e Dyspnea refers to difficulty in breathing.

61. Answer: d
Explanation:

Concept:-

e Anuria refers to the 24 hours urine output will be less than 50mL.
¢ Itis seen in acute or chronic kidney failure, and kidney stones.
e The renal shutdown is characterized by anuria.
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Explanation:

¢ The urinary examination includes:

o The usual pattern of urinary elimination
o Any changes in the pattern

o Difficulty in passing urine

o Presence of artificial orifices

e Characteristics of urine that are taken into consideration during the

assessment:
o Color
o Odor
o Turbidity
o pH
o Specific gravity
o Constituents

Some of the causes of anuria include:

Diabetes: When a person’s blood sugar is consistently high, such as with
uncontrolled diabetes, it can result in diabetic ketoacidosis, and damage to the
small blood vessels in the kidneys. This can cause acute renal failure and poor
or absent urine production.

Kidney stones: These stones can cause blockages in the kidneys or ureters, the
tubes that transport urine from the kidneys to the urethra where it is passed out
of the body. These blockages mean the urine is unable to exit the body.

Kidney failure: Acute kidney failure occurs when the kidneys stop functioning
and are unable to filter urine anymore.

High blood pressure: Also known as hypertension, high blood pressure can
damage the blood vessels in the kidneys over time. Without treatment, high
blood pressure can lead to permanent kidney damage and anuria.

Tumors: A growth on or near the kidney can cause a blockage and keep urine
from passing out of the body.

Heart failure: When a person has heart failure the heart cannot pump enough
blood around the body. Processes in the body kick in if there is not enough fluid
in the blood vessels. One of these is the kidneys ceasing to make urine to hold
on to extra fluid.
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Additional Information

e Appendicitis is characterized by the visceral pain that comes in the waves. The

pain starts in the epigastrium or periumbilical region.

e Gastritis refers to the inflammation of the stomach.
e Pyrexia is a medical term for fever.

62. Answer: a

Explanation:

Concept:-

e The American Psychological Association (APA), while enlisting careers in

psychology on their website, American Psychological Association (APA)
describes that “school psychologists work directly with public and private
schools. They assess and counsel students, consult with parents and school
staff and conduct behavioral interventions when appropriate”.

Standards of mental health practices are published by The American
Psychological Association (APA)-

o Standards of care, or standards of level, are guidelines by which mental
health and substance service providers, as well as insurers, determine the
level of care a person receives for behavioral health treatment.

The American Psychiatric Association is an organization of psychiatrists
working together to ensure humane care and effective treatment for all
individuals with mental disorders, including mental retardation and
substance-related disorders.

The APA’s Division 16, after defining school psychology on its website under the
section ‘Archival Description of the Specialty School Psychology’ writes further,
“The basic education and training of School Psychologists prepare them to
provide a range of psychological assessment, intervention, prevention, health
promotion, and program development and evaluation services with a special
focus on the developmental processes of children and youth within the context
of schools, families, and other systems.
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e School psychologists are prepared to intervene at the individual and system
level and develop, implement, and evaluate preventive programs. In these
efforts, they conduct ecologically valid assessments and intervene to promote
positive learning environments within which children and youth from diverse
backgrounds have equal access to effective educational and psychological
services to promote healthy development”.

63. Answer: b

Explanation:

Concept:-

¢ Pulmonary embolism is the blood clots present in arteries of the lungs.

¢ Deep vein thrombosis is the formation of clots in the deep veins of the legs.

e The blood carries deoxygenated blood to the lungs.

e The thrombus travels in the blood and reaches the lungs leading to pulmonary
embolism.

Explanation:

e Pulmonary embolism is characterized by respiratory difficulty, chest pain, and
hemoptysis.
e Complications:

(¢]

o

(¢]

(¢]

(¢]

o

Fatality

Pulmonary hypertension
Cardiac arrest
Obstructive shock
Arrhythmias

Hypoxemia

e Prevention of DVT:

(0]

(¢]

(¢]

(¢]

Anticoagulants
Thrombolytic agents
Compression stockings
Surgery
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Sign and symptoms of DVT:

¢ Swelling and tenderness

e Redness of the skin

e Pain

e Veins of the skin may be larger than normal

64. Answer: c

Explanation:
Concept:-

e Drops per minute are calculated through the below formula.
e Drop rate = Drop factor*Volume/60*Time (hours)

Explanation:

e The drop factor is 20 drops per ml.
e The volume is 1000cc.

e The time is 8 hours.

e Therefore, 20*1000/8*60

e =125/3

o =4].6~42gtts.

65. Answer: a
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Explanation:

Concept:-

e Uncertainty in lliness Theory was given by Dr. Merle H Mishel.
She completed her Masters's in Psychiatric nursing.
Uncertainty in lliness Theory has the following elements:

o antecedents

o appraisal
o coping
Uncertainty refers to the inability to determine illness-related events.

Additional Information

e Hierarchy of Need was given by Abraham Maslow.
e According to Maslow's theory of need, there are five levels of need.
o Physiological Needs
o Safety and Security
o Love and Belonging
o Self-esteem
o Self-Actualization
e Social Cognitive Theory was given by Albert Bandura. He postulated learning
occurs in a social context.
 Job satisfaction theory was given byRobert Hoppock. He theorizes that the
number of psychological, physiological, and environmental circumstances
affects the satisfaction with their job.

66. Answer: c

Explanation:

Concept:-

e The incidence rate is defined as the number of new cases occurring in a
defined population during a specific period of time.
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« Incidence rate: Number of new cases/ population at risk *1000.
e For example, there are 180 new cases and the population is 500.
e Then incidence rate=180/500*1000 = 0.36 per 1000 per year.

Additional Information

¢ Morbidity rate supplements the mortality rate to describe the health status of

a population.
e The following rates are used under the morbidity indicator:

o

o

(¢]

(¢]

(¢]

incidence/prevalence rate
notification rate

attendance rates at OPD
admission and discharge rates
duration of stay in hospital

e Prevalence refers to all the new and old cases at a given point in time. It is
defined as the total number of individuals attributed at a given point in time in
a given population.

 Point prevalence refers to all cases at one point in time. The point may consist
of days, weeks, or months.

67. Answer: a

Explanation:

Concept:-

Ovule develops a tough coat.

It converts into a seed in a plant.

The ovary becomes the fruit.

A pollen grain reaches the egg and fertilization takes place.

One sperm fuses with an egg and forms a diploid zygote.

Another sperm joins with the fusion nucleus to form a triploid nucleus.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

"
.

Pollen grain =

&=— Pollen tube

——— Ovule
|L. WLIE

Carpel

Additional Information

e The tripod nucleus becomes endosperm.

e The endosperm nourishes the embryo.

e In gymnosperm, the ovule becomes a seed.

¢ In angiosperms, the ovary containing the ovules develops into a fruit after
fertilization.

68. Answer:d
Explanation:

Concept:-

e Antiretroviral agents are the drugs provided in the treatment of HIV/AIDS.
e The commonly used drug categories are:
o Nucleoside/nucleotide transcriptase inhibitors: Combivir (Zidovudine),
Epivir (lamivudine), Retrovir (ZDV), Zerit (Stavudine), Ziagne, Videx, Trizivir
o Protease inhibitors: Norvir (ritonavir), Viracept (nelfinavir)
o Non-nucleoside/nucleotide transcriptase inhibitors: Rescriptor
(delavirdine), Sustiva (efavirenz), Viramune (nevirapine)
o Fusion inhibitors: Enfuvirtide (Fuzeon) and maraviroc (Selzentry)
e Zidovudine is an Anti Retroviral Drug used in HIV AIDS.
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o Oral dosage: 300 mg q12hr OR 200 mg g8hr (600 mg/day)

o IV dosage: 1 mg/kg/dose g4hr (6 times daily)

o Itis indicated in pregnancy to prevent maternal-fetal transmission.

o Dosage: 2 mg/kg loading dose followed by continuous IV infusion of 1
mg/kg/hr until umbilical cord clamped

Explanation:

e Ampicillin is a penicillin antibiotic drug.
e Dexamethasone is a corticosteriod.
e Streptomycin is an aminoglycoside class of antibiotic.

69. Answer: b
Explanation:

Concept:-

e Evaluation in the cognitive domain is associated with the evaluation of
cognitive abilities such as knowledge, understanding, application, etc.
Evaluation in the affective domain means the evaluation of attributes such as
attitudes, motives, interests, and other personality traits.

e Retrospective evaluation refers to the assessment done after the discharge.

e Itinvolves post-discharge

o questionnaires
o patient interviews
o chart reviews to collect data.
e For example, JCI conducts audits and interviews.

Additional Information

Concurrent evaluation is performed at the time patient is receiving care.

It is done through direct observation, patient interviews, and chart reviews.
Auditing is a method of evaluating nursing care provided to the patient and
the outcomes related to it.

Nursing audit depends on the documentation.
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70. Answer: c
Explanation:

Concept:

e The female reproductive tract consists of
o Primary sex organ: Ovary
o Secondary sex organs: pair of oviducts (fallopian tubes), uterus, cervix,
vagina & mammary glands.
o External genitalia: vulva
¢ Fallopian tubes have four parts:
o intramural
o isthmus
o ampulla
o infundibulum
e The ovum is rapidly transported to the ampulla.
¢ The fertilizable life span of oocytes ranges from 12 to 24 hours.
e Thousands of capacitated spermatozoa enter the uterine tube while only 300-
500 reach the ovum.
e Only a few sperms reach the fallopian tube.
e The life span of a sperm is 48 to 72 hours.

Explanation:

e Ovum and sperm fertilize at the ampulla.

o After the sperm fusion, penetration of other sperm is prevented by zona
reaction (hordening) and oolemma block.

e Hence, The process of fertilization occurs in the ampullary region of
the fallopian tubes of a human female
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e Second meiotic division completes and as a result, the haploid number of
chromosomes (23, X) or (23, Y) are present.
e The zygote forms with both maternal and paternal genetic materials.

71. Answer: a

Explanation:

Concept:-
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e Splitting is a primitive ego defense mechanism, which protects an individual
against anxiety.

e The other primitive defense mechanisms are denial or projection.

¢ Splitting is manifested by the inability to accept positive and negative feelings.

Explanation:

e |tis caused because of object constancy.

e Object constancy is the ability to maintain a positive feeling while feeling hurt
at the same time.

e Any situation or individual is either all good or all bad.

e For example, a mother taking care of someone is all good but because of
health she is not able to give time then she is all bad.

Additional Information

Borderline personality disorder has two clinical features:

1. Chronic depression
2. Inability to be alone

72. Answer: b
Explanation:

Concept:

The word emotion has its origin from the French word émouvoir.

The word émouvoir means ‘excite’.

It is based on the Latin word é@moved which means to stir up or to move out.
The @'means out and movedmeans to move.

Explanation:

e Two Scottish philosopher-physicians Thomas Brown and Charles Bell used the
term emotions in their article.
e The word emotion holds importance in modern psychology.
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e During the 18th century, the word emotion meant bodily stirrings
accompanying mental feelings.
¢ In 1649, Descarte referred to emotion as passions of the soul.

73. Answer: d
Explanation:

Concept:-

e The human immunodeficiency virus is a retrovirus.
e AIDS is also known as a slim disease.
e AIDS is the last stage of HIV infection.
e HIV infection attacks immunity making an individual prone to other infections
and diseases.
e It spreads through the following routes:
o sexual intercourse
o exposure to body fluids from infected people, such as blood, breast milk,
semen, and vaginal secretion.
o blood transfusions
o maternal-fetal transmission
o intravenous drug use.
¢ HIV does not spread through shaking hands, hugging, sharing meals, and
kissing.

Explanation:

e The incubation period varies from month to year(s).
e The clinical features are classified into four categories:
1. Initial infection: Mild iliness involving fever, sore throat
2. Asymptomatic infection state: No overt signs but antibodies are present
3. AIDS-related complex: Decreased immunity, lymphadenopathy, and
enlarged spleen
4. AIDS: End-stage with opportunistic infections.
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74. Answer: d

Explanation:

Concept:-

e A community health center covers 80000 to 120000 population.

e |t consists of 30 beds with specialists in surgery, medicine, obstetrics,
gynecology, and pediatrics.

e A CHC is present in each community development block.

¢ A CHC provides the following care:

o

o

(e}

Emergency services

24 hours delivery services

Essential and emergency obstetric care

Family planning services

Safe abortion services

Newborn care

Pediatric care

All national health programs should be delivered through CHC.

Explanation:

Primary health care center covers 30,000 in rural and 20,000 in tribal and hilly
areas.
Sub-center covers 5000 population in rural and 3000 in tribal and backward

areas.
The programs included at CHCs are:

o

o

o

RNTCP

HIV/AIDS Control Program

National Vector-Borne Disease Control Program
National Leprosy Eradication Program

National Program for Control of Blindness

Under Integrated Disease Surveillance Project.
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75. Answer: c
Explanation:

The pattern followed is:

Hence, the correct answer should be "69".
Sometimes addition/subtraction of cubes is also taken in a pattern.

Additional Information
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Number | Cube

2 8

3 27
4 64
5 125
6 216
7 343
8 512
9 729
10 1000

76. Answer: d
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Explanation:

Explanation:

e Sewage, also called wastewater, is the contaminated water from homes,
schools, and businesses.

e Domestic sewage contains, sand, silt and clay are included in suspended
solids.

¢ In domestic sewage, nutrients (like nitrates, phosphates, ammonia, sodium
and calcium) are included in colloidal materials.

¢ In domestic sewage, fecal matter, bacteria, cloth and paper fibres are included
in dissolved materials.

So, In domestic water sewage, sand is not a part of ‘Dissolved materials'.

77. Answer: c

Explanation:

Given:
i) A girl started to walk 2 km in North direction.
i) She turned towards her right and walked 6 km and walked 3 km towards her left.

iii) Once again she took a left turn to walk 3 km before taking another left to walk 5
km.

Logic: We have to draw the diagram as per the question and answer the question.
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South

Let's say the girl starts from point "O" and ends at point "F".
Now the distance between the initial and point "OF" will be
3km.

Hence, the correct answer should be "Option3: 3km".

78. Answer: c

Explanation:

The correct answerGujarat.
Key Points

e Dandiya is the most popular folk dance of Gujarat which is performed during
Navratri.

e Itis famous all over the world, and especially in Navratri, it is played throughout
India.
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e Itis a group dance that is performed by using two sticks called Dandiya in
groups of men, women, and kids.
e This dance is held after the evening aarti and people enjoy the dance for hours

in traditional dress.

¢ The swift sitting movements “Besnhi” and circular movement “ Chakkars” are the
speciality of their dance.

e The traditional musical instrument is Dhol and the costume is the Ghagra choli,
Bandhani Dupatta, and turban.

Additional Information

e Gujarat is a state on the western coast of India with a coastline of 1,600 km
most of which lies on the Kathiawar peninsula and a population of 60.4 million .

e Itis the fifth-largest Indian state by area and the ninth-largest state by
population.

e Area: 196,024 km?

e Capital : Gandhinagar

e Governor: Acharya Devvrat

e Population: 6.27 crores

¢ Chief minister : Bhupendrabhai Patel

79. Answer: b

Explanation:

The correct answer is Madhya Pradesh

Key Points
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¢ Madhya Pradesh has the largest number of National Parks in India .

¢ Andaman & Nicobar Islands have the maximum number of National Parks
amongst the UTs.

e There are more than 500 sanctuaries in India, which are called wildlife
sanctuaries .

e In July 2019, the number of national parks in the country was 104, whose total
area is 4050113 sq km (15637.70 sq mi),

e Which is about 1.23 per cent of the entire land area of India .

Important Points

e Bandhavgarh National park was established in 1968

¢ Dinosaur National park was established in 2011

o Fossils National park was established in 1983

¢ Indira Priyadarshini Pench National park was established in 1975

¢ Kanha National park was established in 1955

e Madhav National park was established in 1959

e Panna National park was established in 1981

e Sanjay National park was established in 1981

e Satpura National park was established in 1981

e Van Vihar National park was established in 1979

 Indid’s first national park was established in 1936 as Hailey National Park , now
known as Jim Corbett National Park, Uttarakhand. ( Now Ramganga National
Park )

Additional Information

e Madhya Pradesh, a large state in central India, retains landmarks from eras
throughout Indian history.

e Area: 308,245 km?

e Capital : Bhopal

¢ Chief Minister : Shivraj Singh Chouhan

e Population: 7.33 crores

80. Answer: b
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Explanation:

Concept:

Elements and their symbol:

e An element is a naturally occurring pure substance made up of the same type
of atoms.

e They have identical nuclei consisting of the same number of protons.

e There are 118 elements found in nature and are arranged in a table according
to their atomic number known as the periodic table.

e The elements are represented by their symbols .

e Each element has a unique symbol and some of the symbols are derived
from their Latin names such as Au for Gold from Aurum, Pb for the lead
from Plumbum.

e The periodic table shows us all the elements and their symbols.

Explanation:

e Gallium is a chemical element with the symbol Ga and atomic number 31.
e Gallium is a soft, silvery metal, which is liquid atstandard temperature and
pressure.
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Properties ofGallium:

Atomic Number: 31

Group Number: 13

Gl, G, Gm these do not belong to any elements.

8l. Answer: b

Explanation:

The correct answer Prime Minister

Key Points

The Union executive consists of the President, the Vice-President, and the
Council of Ministers with the Prime Minister as the head to aid and advise the
President.

In India there are two heads - one is a nominal head of the state the President
whereas one is the real executive head of the state - the Prime Minister.

All real powers and executive decisions are made through him and he is also
head of the council of ministers.

The prime minister of the Republic of India is the head of the executive branch
of the government of India.

The prime minister is the presiding member of the Council of Ministers of the
central government and heads the federal cabinet.

They can be a member of any of the two houses of the Parliament of India the
Lok Sabha (House of the People) and the Rajya Sabha (Council of the States);
but has to be a member of the political party or coalition, having a majority in
the Lok Sabha.

Important Points

The Union Cabinet headed by the prime minister is appointed by the President
of India to assist the latter in the administration of the affairs of the executive.
The Union Cabinet is collectively responsible to the Lok Sabha as per Article 75
(3) of the Constitution of India.
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e The prime minister has to enjoy the confidence of a majority in the Lok Sabha
and shall resign if they are unable to prove a majority when instructed by the
president.

¢ Article 75 of the Constitution states that The Prime Minister of India is appointed
by the President.

¢ If the party wins a majority of the seats in the Lok Sabha elections, then the
President appoints the elected representative of the winning party as the Prime
Minister of the country

e Article 78 of the Constitution deals with the duties of the Prime Minister with
respect to the furnishing of information to the President

82. Answer:d

Explanation:

Explanation:

The force acting on a unit positive charge inside an electric field is termed electric
field strength or electric field intensity.

E=

SN s}

The Sl unit of F is newton, Sl unit of charge is Coulomb.
Hence, the Sl unit of electric field intensity is Newton/Coulomb.

83. Answer:d

Explanation:

Concept:

e Geostationary Satellite: The satellite which appears stationary relative to the
earth is called a geostationary or geosynchronous satellite.
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A geostationary satellite always stays over the same place above the
earth such a satellite is never at rest.

o Such a satellite appears stationary due to its zero relative velocity w.r.t.
that place on earth .

o

o The orbit of a geostationary satellite is known as the parking orbit .
o It takes 24 hours to complete one revolution of the earth by satellite , that
is the same time as the earth takes to rotate once on its axis.

Explanation:

e A geostationary orbit has an orbital period equal to the Earth’s rotational
period i.e. 23 hours, 56 minutes, 4 seconds, which is rounded off to 24 hours .

¢ The main difference between geosynchronous and geostationary satellites is
that While the geostationary orbit lies on the same plane as the equator,
the geosynchronous satellites have a different inclination .

e Both Complete one orbit in 24 hr.

84. Answer: c
Explanation:

The correct answerlncome Tax

Key Points
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e PAN card is issued by the Income Tax Department under the supervision of the
Central Board of Direct Taxes.
e PAN enables the department to link all transactions of the “person” with the
department.
e PAN Card is an electronic system in which all the tax-related information of a
person or company is recorded against a single PAN number.
e PAN is a 10 digit unique alphanumeric humber issued by the Income Tax
Department under the Indian income tax act 1961.
o The first three characters are normal letters starting from AAA to ZZZ .
o The Department of I.T allocates the digits randomly which is a
combination of the letters like AZT or ZRT.
o The fourth character represents the status of the PAN cardholder.

o Itis one of the most important characters and those who deal in PAN
cards usually look at this character to identify the status of a particular
person.

Additional Information

e The fourth character for a majority of PAN holders is the letter +p”, which stands
for "persone.

e The fifth character represents the first alphabet of the PAN holder's last name
or surname.

e The sixth to ninth four characters are sequential numbers starting from 0001 to
9999.

e The tenth character in the PAN card is an alphabetic check digit which can be
any alphabet.

e A Stands for Associations of person.

e B stands for the body of the individual.

e C stands for Company.

e F stands for Firm.

e G stands for Government.

e H stands for Hindu Undivided family.

e L stands for Local Authority.

 J stands for Artificial Judicial person.

e P stands for the person.

o T stands for trust.
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85. Answer: c

Explanation:

Given:
The speed of the train = 29 m/s
Formula used:

S = Where S = The speed, D = The distance, and T = The time

NS

Calculation:

Let us assume the length of the train be X and length of the platform be P
= According to the question

= (49x29)=D

=>X=1421 ----(1)

= (X +P) =29 x 65

=1421+P=1885 ----(2)

= By equation (1) and (2)

= P =1885 - 1421 = 464 m

= The required result will be 464 m.

86. Answer: d

Explanation:

Given:
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The selling price of the CPU = 7935

The profit % =15%
Formula used:

P% = S£=CE « 100 Where, P = The profit, SP = The selling price, and CP = The cost
price

Calculation:

Let us assume the cost price of the CPU be X
= According to the question

= X + 0.15X = 7935

= 115X = 7935

= X = 6900

= The selling price of the CPU when it sell for 25% = 6900 + (6900 x 0.25) = 6900 +
1725 = 8625

- The required result will be 8625.

87. Answer:d

Explanation:

The correct answer Balwant Rai Mehta Committee

Key Points

¢ The Balwant Rai Mehta Committee was appointed in 1957, to examine and
suggest measures for better working of the Community Development
Programme and the National Extension Service.

¢ Three-tier Panchayati Raj system: Gram Panchayat, Panchayat Samiti, and Zila
Parishad.
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¢ Directly elected representatives constitute the gram panchayat and indirectly
elected representatives constitute the Panchayat Samiti and Zila Parishad.

¢ Planning and development are the primary objectives of the Panchayati Raj
system.

e Panchayat Samiti should be the executive body and Zila Parishad will act as
the advisory and supervisory body.

¢ District Collector to be made the chairman of the Zila Parishad.

¢ |t also requested provisioning resources so as to help them discharge their
duties and responsibilities.

¢ The objective of the Panchayats thus was the democratic decentralization
through the effective participation of locals with the help of well-planned
programs

Important Points

e Simon commission

o The British government set up a commission to enquire into the
government of India act of 1919.

o The aim of the commission was to enquire into the working of the act and
to suggest further reforms in the system of administration.

o The commission was therefore named after Sir John Simon who headed
it.

o Simon Commission or Indian Statutory Commission was a group formed
under the chairmanship of Sir John Simon whose main work was to study
the constitution of India.

o It had seven members but none of them was Indian and this was the
main reason why it was opposed in India.

¢ Jai Prakash Narain Committee

o To change the procedure of appointment of the Chief Election

Commissioner.

o To elect three-member Election Commission.
o To reduce the voting age from 21 to 18 years.
o Television and radio should be placed under an independent corporation.
e Kaka Kalelkar Committee
o Article 340 of the Constitution of Indiqg, the First Backward Classes
Commission was set up by a presidential order on 29 January 1953 under
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the chairmanship of Kaka Kalelkar.

o Itis also known as the First Backward Classes Commission, 1955, or the
Kaka Kalelkar Commission.

o Determine the criteria to be adopted in considering whether any sections
of the people in the territory of India in addition to the SC and ST as
socially and educationally backward classes, using such criteria it was to

prepare a list of such classes setting out also their approximate members
and their territorial distribution.

88. Answer:c

Explanation:
Given:
Divisor(D) = 483
Remainder(R) = 68
Divisor two (D5) = 69
Let, Quotient be "Q"

Formula used:

Dividend =D x Q+R

Dividend = 483 x Q + 68.

Now, divide whole equation by "69"
Dividend = (483Q/69) + (68/69)
=7Q + (68/69)

Hence, the remainder will be "68".

Hence, the correct answer should be "Option3: 68"
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89. Answer: b
Explanation:

Given:

The total students = 4500

The ratio of girls to boys of the school = 49 : 51
Concept:

If A and B are in ratio then

A:B=

So S

Calculation:

Let us assume the girls and boys in the school be 35x and 37x respectively and
number of girls admitted be X

= The sum of the boys and girls = 4500

= 49x + 5Ix = 4500

= 100x = 4500

=X =45

= The number of girls = 49x = 49 x 45 = 2205
= The number of boys = 4500 - 2205 = 2295

= Now, according to the question

- 2205+ X _ 1

2295 1

= 2205 + X = 2295

= X = 2295 - 2205 =90
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= The number of girls are added = 90

. The required result will be 90.

90. Answer: d

Explanation:

Given:
The bells ring at intervals = 59 and 70 seconds
Concept:

LCM = The least common multiple of the two or more numbers is the smallest non-
zero common numbers of two or more numbers

Calculation:

Let us assume the will ring together after X seconds

= The LCM of (59, 70) = 4130

= If they ring at 10 O'clock then will ring together after = 4130 seconds

- The required result will be 4130.

91. Answer: a

Explanation:

Concept:

e Bio-Degradable:
o Substances that are broken down by biological processes (bacteria) are
said to be biodegradable.
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o For example all living plants and animals, vegetables and fruits.
e Non-Bio-Degradable: Substances that are not broken
down by biological processes(bacteria) are said to be non-biodegradable.
These substances may be inert and simply persist in the environment for a long
time or may harm the various members of the ecosystem. For example Plastics,

metals concrete, Nylon etc
Explanation:

e Wood is biodegradable .

 Plastic bag, Nuclear waste and Aluminium is non-biodegradable.

Additional Information

Approximate Time is taken | Nature of
Type of Waste :
to Degenerate Material
Peels of vegetables and fruits, )
1to 2 weeks Biodegradable
leftover foodstuff, etc.
Paper 10 to 30 days Biodegradable
Cotton cloth 2 to 5 months Biodegradable
Wood 10 tolb years Biodegradable
Woollen clothes About a year Biodegradable
Tin, aluminium, and other metal Non-
100 to 500 years .
cans biodegradable
. Non-
Plastic bags Several years )
biodegradable
Non-
Synthetic fibre Several years .
biodegradable

92. Answer:d
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Explanation:

Logic: For solving inequality questions following rule should be used.
LIf >, >, =

Then the answer will be "

2.1f =, £<.

Then the answer will be "<".

2.1f <>

Then the answer will be can't be determined.
4.1f, 2, =

Then the answer will be " > "

5.1f =, <

Then the answer will be "<".

Conclusions:

LE<R

R=I1>E

"TRUE" as it follows rule 1.

2.1<0

O>R=I

"TRUE" as it follows rule 1

SW>|

W=0>R
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"TRUE" as it follows rule 1

As all options are following the rules.

Hence, the correct answer will be "Option4: All follow".

93. Answer: b

Explanation:

The correct answer isBeas

Key Points

Pong Dam is built on River Beas .

It is also known as Beas Dam.

It is located in the Talwara district of the State of Himachal Pradesh in India.
The main purpose is to store water for irrigation and hydel power.

The construction of the dam started in 1961 and was completed in 1974.

The height of the Pong dam is 436 feet and the length is 6401 feet.

The crest width is 45 feet and the base width is 2001 feet.

It has an active capacity of 7290 million cubic meters.

Additional Information

Himachal Pradesh is a northern Indian state in the Himalayas.

It's home to scenic mountain towns and resorts such as Dalhousie.

Himachal Pradesh has a strong Tibetan presence.

This is reflected in its Buddhist temples and monasteries, as well as its vibrant
Tibetan New Year celebrations.

The region is also well known for its trekking, climbing, and skiing areas.

Area: 55,673 km?

Chief minister : Sukhwinder Singh Sukhu

Population : 68.6 lakhs
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94. Answer: d

Explanation:

The pattern followed is:

BEACH: GDCJE

As the obtained code is "NHWFK".
Hence, the correct answer should be "Option4: NHWFK".

Additional Information

Shortcut to remember the reverse positional letters.
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95. Answer: d

Explanation:

The correct answer is Novak Djokovic

Key Points

Novak Djokovic won the Australian Open Men's Singles title in Melbourne on 27
January 2019.

He defeated Rafael Nadal from Spain.

It was his 7th Australian Open Men's Singles title.

He won the Australian Open Men's Singles title in 2008, 2011, 2012, 2013, 2015, and
2016.

He also broke a tie with Pete Sampras, for third-most Grand Slam trophies.
Novak Djokovic is a Serbian professional tennis player.

He is currently ranked world No. 1 by the Association of Tennis Professionals.
Djokovic has been No. 1 for a record total of 357 weeks and has finished as ATP
Year-End No. 1 on a record seven occasions.
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He has won a joint record of 20 Grand Slam men's singles titles, including a
record nine Australian Open titles.

He has won 86 ATP singles titles, including a record 37 Masters events.

He is also the only player to complete the career Golden Masters on the ATP
Tour, which he has done twice.

96. Answer: a

Explanation:

The correct answerGujarat

Key Points

The ancient Harappan city of Lothal is located in the state of Gujarat

Lothal is a coastal site in the state of Gujarat and was an important trading
centre during the Harappan period.

The artificial dockyard (the most striking feature) in Lothal signifies its
importance as a trading centre.

The site was discovered by SR Rao in 1964 .

Lothal is a lower town and dockyard.

Evidence of rice has been found from Lothal.

Lothal is also known as Manchester of the Indus Valley civilization.

The Archeological Survey of India (ASI) excavated it from 13 February 1955 to 19
May 1960.

It is situated on the banks of Bhogava river, a tributary of the Sabarmati River.
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It is the only site belonging to Harappan culture where evidence of rice has
been found.

From here a doubtful terracotta figurine representing a horse has been found.
The terracotta ship, Ship on a seal, double burial (male and female) chess-like
game, and instruments for measuring angles are found here.

Important Points

Babarkot, Bet Dwarka, Desalpur, Lothal, Desalpur, Dholavira, Rangpur, Rojdi,
Shikarpur is present in Gujarat.

Bhansali is situated in Fatehabad of Haryana

Harappa is situated in the Sahiwal district of Pakistan

Kalibangan and Baror is situated in Rajasthan

Ropar and Sanghol is situated in Punjab

Alamgirpur, Sothi, Sanauli, and Mandi is situated in Uttar Pradesh

97. Answer:c

Explanation:

The correct answer is 1992.

Key Points

CSSM program launched on 20th August 1992.

CSSM program is directed at achieving 9 of the 17 goals of the National Health
Policy (1983) which are related to maternal and child health.

Giving strength to the universal immunization program.

Giving continual ORT to children below 5 years of age against respiratory
infections.

Protect children below 3 years of age against blindness caused by deficiency
of vitamin A.

Providing iron and folic acid tablets to pregnant mothers, lactating mothers,
and children below 5 years of age to protect them against malnutritional
anaemia.

Aim:
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To bring improvement in the care of infants and mothers at the community
level.

To improve maternal care and promote birth spacing.

To train medical and other health personnel in essential newborn care.

To use low cost-effective and locally available equipment for newborns.

To provide basic facilities for care for low birth weight and sick newborns in first
referral units and district hospitals.

Create awareness about essential newborn care among healthcare providers,
pregnant women, and mothers of newborns.

98. Answer. c

Explanation:

The correct answer any number of times.

Key Points

A person can be elected as President of India any humber of times.

The president of the Republic of India is the ceremonial head of state of India
and the commander-in-chief of the Indian Armed Forces

He is the head of the Indian state and is also the first citizen of India.

Article 52 of the Indian Constitution mentions that there shall be a President of
India.

The President is an integral part of the union executive along with the Vice
President, Prime Minister, the Council of Ministers, and Attorney General.

The President of India is elected by members of an electoral college instead of
direct elections.

the members of an electoral college are Elected members of both Lok Sabha
and Rajya Sabha.

Elected members of state legislative assemblies.

Elected members of legislative assemblies of UTs of Delhi and Puducherry.
The method adopted for the election of the President is a system of
proportional representation by the means single transferable vote.
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e The voter is required to indicate the preference on the ballot paper and he can
mark as many preferences as the number of candidates.

Important Points

e Article 53 of the Constitution of India states that the president can exercise his
powers directly or by subordinate authority.

e Article 61 deals with the Procedure forimpeachment of the President.

e When a President is to be impeached for violation of the Constitution, the
charge shall be preferred by either House of Parliament.

e The resolution has to be passed by a majority of not less than two-thirds of
the total membership of the House.

e Droupadi Murmu is the 15th and current president.

99. Answer:c

Explanation:

Given:

The boys = 2450

The girls = 1750

Concept:

GM% = g—ﬂf‘j x 100 Where, GM = The gain marks, TM = The total marks
Calculation:

Let us assume the percentage of who failed be X

= According to the question

= The total number of students = 2450 + 1750 = 4200

= The number of boys failed = 2450 x (100% - 42%) = 2450 x 58% = 1421
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= The number of girls failed = 1750 x (100% - 36%) = 1750 x 64% = 1120

= The percentage of students who failed = 42LLU20 5100 = 60.5%1015 + 8003000

x 100 = 60.5 %1015 + 8003000 x100 = 60.5%

. The required result will be 60.5%.

100. Answer: b
Explanation:

The correct answer toCricket.
Key Points

* Leg before wicket (LBW) is one of the ways in which a batsman can be
dismissed in the sport of cricket.

¢ Following an appeal by the fielding side, the umpire may rule a batter out lbw
if the ball would have struck the wicket but was instead intercepted by any
part of the batter's body.

e The umpire’'s decision will depend on a number of criterig, including where the
ball was pitched, whether the ball hit in line with the wickets, the ball's
expected future trajectory after hitting the batsman, and whether the batter
was attempting to hit the ball.

¢ Leg before wicket first appeared in the laws of cricket in 1774, as batsmen
began to use their pads to prevent the ball from hitting their wicket.

Important Points

 The definition of the leg before wicket (Ibw) is currently Law 36 in the Laws of
Cricket, written by the Marylebone Cricket Club (MCC).

e Before a batter can be dismissed Ibw, the fielding team must appeal to the
umpire.

¢ If the bowler delivers a no-ball - an illegal delivery - the batter cannot be out
Ibw under any circumstances.
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e Otherwise, for the batter to be adjudged lbw, the ball, if it bounces, must pitch
in line with or on the offside of the wickets.

e Then the ball must strike part of the batter's body without first touching his/her
bat, in line with the wickets and have been going on to hit the stumps.

e The batter may also be out Ibw if, having made no attempt to hit the ball with
their bat, they are struck outside the line of the off-stump by a ball that would
have hit the wickets.

e The umpire must assume that the ball would have continued on the same
trajectory after striking the batter, even if it would have bounced before hitting
the stumps.
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